City Of
== Los Angeles
EQUAL ) COLA
. Patents & - a1 Approved

Patents Pend.

— No-DriL'™HANGERS —



B4DGER INDUSTRIES SEOL
NO-DRILL” HANGERS -

Integrated Lean Construction Through Innovation gt

www.nodrillhangers.com

Patents and Patents Pending
_———

Fast & Easy To Install

Fast & Easy To Inspect

Fast & Easy To Remove

Trade Design Schedule Savings

Trade Coordination Schedule Savings
Trade Clash Resolution Schedule Savings
Field Construction Schedule Savings
Change Order Schedule Savings
Inspection Schedule Savings

NO NOISE

HAMMER
NO DRILL

NO HEepa Vac

No HAZARDOUS
S1Lic4a DUST



No PERMANENT HoLES IN THE DECKING
No ABANDONED ANCHORS OR INSERTS
No Hores DriLLED THROUGH FLOORS
No Hazarpous SiLica Dust

No Noisy HammeRr Dritr. Or HeEpa Vac
No PounpinGg ANCHORS INTO CONCRETE
No ExPENSIVE ANCHOR INSPECTIONS

Badger No-Drill™Hangers - Visual Inspection Compliant

Integrated Lean Construction Through Innovation



BADGER NO-DRILL™ HANGERS
INNOVATIVE / CODE COMPLIANT / COST EFFECTIVE WWW.NODRILLHANGERS.COM

T

BADGER NO-DRILL™ HANGERS
INNOVATIVE / CODE COMPLIANT / COST EFFECTIVE WWW.NODRILLHANGERS.COM

~ ey v-r___'_...,.-_.___ B R e e R aa

:—_:

Link To VibEo
http://www.badgerindustries.com



~ JURISDICTIONAL APPROVALS ~

COLA - City Of Los Angeles
OSHPD - Office of Statewide Health Planning and Development

OSHPD
OPM Approved
See OPM-0043-13

No-Drill™Hanger
Part# MDH3812

OSHPD
OPM Approved
See OPM-0043-13

Approved
See COLA \
Report #26090

No-Drill™Hanger
Part# NDH38FV-W3

Approved
See COLA
Report #26090

OSHPD

No-Drill™Hanger
Part# MDH1258

OSHPD
OPM Approved
See OPM-0043-13

COLA
Approved
See COLA

Report #26090

No-Dril™Hanger
Part# NDH4S-W3

Approved
See COLA
Report #26090

OPM Approved
See OPM-0043-13



EXTREME INNOVATION
NDH38FV-W3

Through Hole Opening
For Threaded Rod Field
Adjustments

Spring Steel

ElastomericJA
Viblso™
Grommet

ﬂﬁ Oversized

(3/8"-16) Swivel Nut
With Thread Engagement
Visual Inspection Hole

30° By 360°
Articulation

30° By 360°
Articulation

Patents &
Patents Pend.

[NDH38FV-W3] Features:

Oil-resistant elastomer insert designed to carry a

~— REM OVABLE 500% overload without failure.

+ Hanger element with minimum lateral stiffeness
of 1.0 times the rated vertical stiffness.

T—— NOISE ISOLATION * Hanger element seismic cyclic tested to carry a

500% (tension and/or compression) overload
without failure.

~— VIBRATION ISOLATION s e e oo
~— OSHPD SEiIsmic APPROVED

~— DucTtILE FAILURE PERFORMANCE

~— FLEXIBLE OVERLOAD PERFORMANCE

~— VisuAL INSPECTION COMPLIANT

~— |BC anda CBC CoOMPLIANT

~— ANSI/AISI §922-19 ComPLIANT

~— ANSI/FM 1950-16 ComPLIANT



~ (GENERAL NOTICE ~

0720

Neither NUSIG nor Badger Industries is responsible for engineering or detailing the use of NUSIG, Badger
Industries and/or others products and components for a specific project and/or application. All such engineering
is to be performed by an engineer, retained by others, who is licensed to perform the necessary engineering,
and who is insured to provide “Responsible Engineer” engineering services. All design submittals specifying
NUSIG / Badger Industries products and components must be sealed and signed by the Responsible Engineer,
and submitted for review and approval to the project S.E.O.R. (Structural Engineer of Record).

Read all notices and instructions prior to design and usage. Laboratory testing (even that recognized by
building codes and standards) is not necessarily indicative of actual project specific application usage
conditions. The NUSIG / Badger Industries components shall not be used for fall protection and/or lifting
device usage conditions. The usage, design, engineering, installation and inspection of NUSIG / Badger
Industries components (both seismic and non-seismic) shall take into account the capacity limits of the weakest
components and conditions within the overall assembly, including but not limited to the building structure,
threaded rod compression with or without rod stiffeners, prying and eccentricity interactions, etc. Such shall
be the responsibility of non NUSIG / Badger Industries others.

NUSIG / Badger Industries documents are subject to change without notice or responsibility. NUSIG / Badger
Industries products, components and documents are for interior use. It is the responsibility of the user to
qualify that they are using the most current NUSIG / Badger Industries documents.

LIMITATION OF LIABILITY

To the fullest extent permissible by law, NUSIG, Badger Industries, and their respective owners, officers,
directors, employees, agents and representatives (collective, the “Parties”) excludes all liability except liability
that is directly attributable to the willful negligence of the Parties. Should the Parties be held liable, under any
theory, the aggregate liability of all of them is limited to the total purchase price of the Parties products that
caused the injury or loss. In addition to the foregoing, THE PARTIES ARE IN NO EVENT LIABLE FOR
ANY LOSS OF BUSINESS OR PROFITS, LOSS OF USE, LOSS OF OPPORTUNITIES, DOWNTIME OR
DELAY, LABOR, REPAIR OR MATERIAL COST OR ANY OTHER SIMILAR OR DISSIMILAR,
INCIDENTAL OR CONSEQUENTIAL LOSS OR DAMAGE INCURRED BY BUYER. By purchasing the
Parties’ products, you agree to this limitation of liability on your behalf, and on behalf of the person or
organization purchasing the products.

WARRANTY

NUSIG and/or Badger Industries products are warranted to be free from defects in material and workmanship
at the time of shipment. NO OTHER WARRANTY, WHETHER EXPRESS OR IMPLIED (INCLUDING
ANY WARRANTY OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE), SHALL
EXIST IN CONNECTION WITH THE SALE OR USE OF ANY NUSIG AND/OR BADGER INDUSTRIES
PRODUCTS. Products claimed to be defective or nonconforming must be identified in writing and returned
(within 30 calendar days) to NUSIG / Badger Industries for inspection. Notice of a warranty claim within this
30 day period is a condition precedent to this Warranty. In no event shall NUSIG / Badger Industries be
responsible if the products have been improperly stored, improperly used, abused or misused. NUSIG / Badger
Industries will, at its option, either repair or replace defective or nonconforming products for which it is
responsible or return the purchase price to the BUYER. THE FOREGOING STATES BUYER’S EXCLUSIVE
REMEDY FOR ANY BREACH OF THE NUSIG AND/OR BADGER INDUSTRIES WARRANTY AND
FOR ANY CLAIM, WHETHER SOUNDING IN CONTRACT, TORT OR NEGLIGENCE, FOR LOSS OR
INJURY CAUSED BY THE SALE OR USE OF ANY NUSIG AND/OR BADGER INDUSTRIES
PRODUCT(S).

WARNING
The improper use, misuse and/or misapplication of these documents and/or NUSIG / Badger Industries
products may cause product malfunction, property damage, bodily injury and death.



(1)

2)

~ CobpE CoMPLIANCE NOTICE ~

0720

Badger No-Drill™ Metal Deck Hangers are compliant with the IBC, ASCE/SEI 7, CBC, and
OSHPD CBC A-Chapters section 2210, therefore there is no basis to require a product approval
report issued under alternate materials, means or methods provisions of the code.

Badger No-Drill™ Hangers connect hanging and/or bracing loads to Verco cold-formed steel
composite deck. Connections of adjoining materials to cold-form steel deck are covered by
ANSI/AISI S100 North America specification for the Design of Cold-Formed Steel Structural
Members. This design standard contains provisions for the design of connections to cold-formed
steel by test in section A1.2(a) and section K. The factored strengths for the Badger No-Drill™
Hanger are in conformance with the provisions of ANSI/AISI S100 specified in section 2210 of
the IBC, CBC and the OSHPD CBC A-Chapter.

Testing was performed following an approved industry standard in accordance with
ASCE 7-16 Section 1.3.1.3.2. The test program was performed by an independent approved
laboratory having accreditation to the ISO Accreditation Standard 17025. Testing was under the
responsible charge of an independent California licensed engineer. Seismic testing was
performed meeting both ANSI/AISI S922 Test Standard for Determining the Strength and
Stiffness of Bearing-Friction Interference Connector Assemblies in Profiled Steel Panels and
ANSI/FM 1950 and/or ACI 355.2 seismic cyclic protocols. Gravity and ceiling wire testing was
performed using ANSI/ASTM E488 tension protocols.  Results were used for engineered
analysis / determination of capacities and Codes / Standards compliance and Jurisdictional
Approvals listed within NUSIG / Badger Installation Details.

No-Drill™Hanger Badger Industries Manufacturer’s Certification: Verco Deck
Part No: Usage: Compliance Method: Fitment:

MDH3812 Ceiling Wire Vertical Support Testing & Analysis W2 & W3
MDH3812 Ceiling Wire Angled Support Testing & Analysis W2 & W3
MDH3812 Threaded Rod Vertical Support ~ Testing & Analysis W2 & W3
MDH1258 Threaded Rod Vertical Support ~ Testing & Analysis W3
NDH38FV-W3  Ceiling Wire Vertical Support Testing & Analysis W3
NDH38FV-W3  Threaded Rod Vertical Support ~ Testing & Analysis W3
NDH4S-W3 Threaded Rod Vertical Support ~ Testing & Analysis W3

NDH4S-W3 Seismic Bracing - Rigid & Cable Testing & Analysis W3



~ NFPA-13 ComMmPLIANCE NOTICE ~

(1.) Both the City Of Los Angeles (COLA) approvals and California Office of Statewide Health
Planning and Development (OSHPD) approvals are applicable for us with fire protection piping
systems.

(2.) Per 2016 NFPA-13 Chapter 9, Paragraph 9.1.1.2, Badger No-Drill™ Hangers can be certified by
a registered professional engineer for use with other jurisdictional fire protection piping systems.

NFPA-13 vertical support hanger usage references below are based on pipe full of water weight,
(times 5, plus 250 pounds). Ultimate test capacities listed for the Badger No-Drill™Hangers
where derived from ANSI/FM 1950 seismic cyclic testing performed by an independent
laboratory having accreditation to the ISO Accreditation Standard 17025. Testing was under the
responsible charge of an independent California licensed engineer.

Sch 40 Steel Piping No-Drill™Hangers Usage Per 2016 NFPA-13 Chapter 9, Paragraph 9.1.1.2:

Nom. Water-Filled  Max. NFPA-13  Ult. Test  No-Drill™ Verco Deck

Pipe Size: Wt. Per Foot:  Spacing: Load: Capacity:  Hanger Part: Fitment:

3/4” 1.30 Ibs. 12 ft. 328 Ibs. 790 Ibs. NDH38FV-W3 W3
972 lbs. MDH3812 W2 & W3

1” 2.06 Ibs. 12 ft. 374 lbs. 790 Ibs. NDH38FV-W3 W3
972 lbs. MDH3812 W2 & W3

1-1/4” 2.92 Ibs. 12 ft. 426 1bs. 790 Ibs. NDH38FV-W3 W3
972 lbs. MDH3812 W2 & W3

1-1/2” 3.60 lbs. 15 ft. 520 Ibs. 790 Ibs. NDH38FV-W3 W3
972 lbs. MDH3812 W2 & W3

2” 5.11 lbs. 15 ft. 634 Ibs. 790 Ibs. NDH38FV-W3 W3
972 lbs. MDH3812 W2 & W3

2-1/2” 7.87 lbs. 15 ft. 841 Ibs. 972 lbs. MDH3812 W2 & W3
2,912 1bs. NDH4S-W3 W3

3” 10.79 lbs. 15 ft. 1,060 1bs. 1,613 Ibs. MDH1258 W3
2,912 1bs. NDH4S-W3 W3

3-1/2” 13.40 1bs. 15 ft. 1,2551bs. 1,613 lbs. MDHI1258 W3
2,912 1bs. NDH4S-W3 W3

4” 16.32 1bs. 15 ft. 1,474 1bs. 1,613 lbs. MDHI1258 W3
2,912 1bs. NDH4S-W3 W3

5” 23.30 lbs. 15 ft. 1,998 Ibs. 2,912 Ibs. NDH4S-W3 W3

6” 31.51 lbs. 15 ft. 2,614 1bs. 2912 1bs. NDH4S-W3 W3

Note: Above listed Badger No-Drill™Hanger parts and Verco Deck Fitment sizes are
applicable for piping schedules with less than Sch 40 wall thickness.



~ SINGLE HANGER CAST IRON PIPING ~
Vertical Hanger Gravity Support Reference Tables

No-Hub Cast Iron Piping - Waste / Drain / Overflow Usage:

Nom. Water-Filled  Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity: Hanger Part: Fitment:

4” 13.0 Ibs. 10 ft. /2 65 Ibs. 65 Ibs. NDH38FV-W3 W3
and 200 1bs. MDH3812 W2 & W3
Smaller 300 1bs. MDH1258 W3

728 1bs. NDH4S-W3 W3

6” 23.4 Ibs. 10ft./2 117 lbs. 200 Ibs. MDH3812 W2 & W3
and 300 1bs. MDH1258 W3
Smaller 728 1bs. NDH4S-W3 W3

8” 60.8 Ibs. 10ft./2 299 Ibs. 300 Ibs. MDH1258 W3

728 1bs. NDH4S-W3 W3
15> 128.8 Ibs. 10ft./2 644 1bs. 728 1bs. NDH4S-W3 W3

and Smaller

Note: Above listed No-Hub Cast Iron Pipe Hanger Loads are based on a minimum of (2) hangers

per 10” foot length of piping. Load is calculated using 5’ feet tributary pipe full of water weight.

No-Hub Cast Iron Piping - Vent Usage:

Nom. Empty-Pipe Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity: Hanger Part: Fitment:
6” 11.0 1bs. 10 ft. /2 55 lbs. 65 lbs. NDH38FV-W3 W3
and 200 Ibs. MDH3812 W2 & W3
Smaller 300 Ibs. MDH1258 W3
728 lbs. NDH4S-W3 W3
127 35.5 lbs. 10ft./2 178 lbs. 200 Ibs. MDH3812 W2 & W3
and 300 Ibs. MDH1258 W3
Smaller 728 lbs. NDH4S-W3 W3
157 51.5 lbs. 10ft./2 258 lbs. 300 Ibs. MDH1258 W3
728 lbs. NDH4S-W3 W3

Note: Above listed No-Hub Cast Iron Pipe Hanger Loads are based on a minimum of (2) hangers

per 10° foot length of piping. Load is calculated using 5’ feet tributary pipe full of water weight.



0720

PVC Schedule 40 Piping - Waste / Drain / Overflow Usage:

~ SINGLE HANGER PVC ScH. 40 PrPING ~
Vertical Hanger Gravity Support Reference Tables

Nom. Water-Filled  Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing: Load: Capacity: Hanger Part: Fitment:

4” 7.41 lbs. 7 ft. 52 Ibs. 65 lbs. NDH38FV-W3 W3
and 200 Ibs. MDH3812 W2 & W3
Smaller 300 Ibs. MDH1258 W3

728 1bs. NDH4S-W3 W3

8” 26.88 Ibs. 7 ft. 188 Ibs. 200 Ibs. MDH3812 W2 & W3
and 300 Ibs. MDH1258 W3
Smaller 728 lbs. NDH4S-W3 W3
12”7 58.52 Ibs. 10 ft. 586 1bs. 728 Ibs. NDH4S-W3 W3
and Smaller
PVC Schedule 40 Piping - Vent Usage:

Nom. Empty-Pipe Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity:  Hanger Part: Fitment:

8” 5.28 Ibs. 7 ft. 37 lbs. 65 Ibs. NDH38FV-W3 W3
and 200 lbs. MDH3812 W2 & W3
Smaller 300 lbs. MDH1258 W3

728 1bs. NDH4S-W3 W3
127 10.02 Ibs. 10 ft. 101 Ibs. 200 Ibs. MDH3812 W2 & W3
and 300 Ibs. MDH1258 W3
Smaller 728 lbs. NDH4S-W3 W3



0720

PVC Schedule 80 Piping - Waste / Drain / Overflow Usage:

~ SINGLE HANGER PVC ScH. 80 PrPING ~
Vertical Hanger Gravity Support Reference Tables

Nom. Water-Filled  Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing: Load: Capacity: Hanger Part: Fitment:

4” 7.62 1bs. 7 ft. 54 lbs. 65 lbs. NDH38FV-W3 W3
and 200 Ibs. MDH3812 W2 & W3
Smaller 300 Ibs. MDH1258 W3

728 1bs. NDH4S-W3 W3

8” 27.82 Ibs. 7 ft. 195 Ibs. 200 Ibs. MDH3812 W2 & W3
and 300 Ibs. MDH1258 W3
Smaller 728 lbs. NDH4S-W3 W3
12”7 60..37 1bs. 10 ft. 604 1bs. 728 Ibs. NDH4S-W3 W3
and Smaller
PVC Schedule 80 Piping - Vent Usage:

Nom. Empty-Pipe Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity:  Hanger Part: Fitment:

8” 8.02 Ibs. 7 ft. 57 Ibs. 65 Ibs. NDH38FV-W3 W3
and 200 lbs. MDH3812 W2 & W3
Smaller 300 lbs. MDH1258 W3

728 1bs. NDH4S-W3 W3
127 16.37 Ibs. 10 ft. 164 1bs. 200 Ibs. MDH3812 W2 & W3
and 300 Ibs. MDH1258 W3
Smaller 728 lbs. NDH4S-W3 W3



0720

Copper Types K, L & M Tube - Full Of Water and Insulated Usage:

~ SINGLE HANGER COPPER PIPING ~
Vertical Hanger Gravity Support Reference Tables

Nom. Water-Filled  Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot: Spacing:  Load: Capacity: Hanger Part: Fitment:
2-1/2” 6.2 lbs. 10 ft. 62 1bs. 65 1bs. NDH38FV-W3 W3
and 200 Ibs. MDH3812 W2 & W3
Smaller 300 1bs. MDH1258 W3
728 lbs. NDH4S-W3 W3
4” 14.8 1bs. 10 ft. 148 1bs. 200 Ibs. MDH38&12 W2 & W3
and 300 1bs. MDH1258 W3
Smaller 728 1bs. NDH4S-W3 W3
8” 55.5 lbs. 10 ft. 555 Ibs. 728 1bs. NDH4S-W3 W3

and Smaller

Note: Weight full of water for 2-1/2” and smaller piping based on 1” thick fiberglass pipe insulation

with an ASJ paper covering. Weight full of water for 8 and smaller piping based on 2” thick
fiberglass pipe insulation with an ASJ paper covering.

Copper Types K, L & M Tube - Medical Gas Usage (No Insulation):

Nom. Empty-Pipe Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity: Hanger Part: Fitment:

4» 6.5 Ibs. 10 ft. 65 1bs. 65 1bs. NDH38FV-W3 W3
and 200 Ibs. MDH3812 W2 & W3
Smaller 300 1bs. MDH1258 W3

728 1bs. NDH4S-W3 W3

6” 13.9 Ibs. 10 ft. 139 1bs. 200 Ibs. MDH3812 W2 & W3
and 300 1bs. MDH1258 W3
Smaller 728 1bs. NDH4S-W3 W3

8” 25.9 Ibs. 10 ft. 259 Ibs. 300 1bs. MDH1258 W3
and Smaller 728 1bs. NDH4S-W3 W3



~ SINGLE HANGER STEEL PIPING ~
Vertical Hanger Gravity Support Reference Tables

Carbon Steel Piping Sch 40 - Full Of Water and Insulated Usage:

Nom. Water-Filled  Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot: Spacing:  Load: Capacity: Hanger Part: Fitment:

27 5.9 1bs. 10 ft. 59 lbs. 65 lbs. NDH38FV-W3 W3
and 200 Ibs. MDH3812 W2 & W3
Smaller 300 1bs. MDH1258 W3

728 1bs. NDH4S-W3 W3

4” 19.5 1bs. 10 ft. 195 1bs. 200 Ibs. MDH3812 W2 & W3
and 300 1bs. MDH1258 W3
Smaller 728 1bs. NDH4S-W3 W3

8” 55.2 lbs. 10 ft. 552 1bs. 728 1bs. NDH4S-W3 W3

and Smaller

Note: Weight full of water for 2” and smaller piping based on 17 thick fiberglass pipe insulation
with an ASJ paper covering. Weight full of water for 8 and smaller piping based on 2” thick
fiberglass pipe insulation with an ASJ covering.

Carbon Steel Piping Sch 40 - Vaporized Gas / Vent Usage:

Nom. Empty-Pipe =~ Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity: Hanger Part: Fitment:
2-1/2” 5.8 Ibs. 10 ft. 58 1bs. 65 lbs. NDH38FV-W3 W3
and 200 1bs. MDH3812 W2 & W3
Smaller 300 1bs. MDH1258 W3
728 1bs. NDH4S-W3 W3

6” 19.0 Ibs. 10 ft. 190 1bs. 200 Ibs. MDH3812 W2 & W3
and 300 Ibs. MDH1258 W3
Smaller 728 1bs. NDH4S-W3 W3
14” 63.5 lbs. 10 ft. 635 lbs. 728 1bs. NDH4S-W3 W3

and Smaller



~ SINGLE HANGER STEEL PIPING ~
Vertical Hanger Gravity Support Reference Tables

Carbon Steel Piping Sch 80 - Full Of Water and Insulated Usage:
Nom. Water-Filled  Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity: Hanger Part: Fitment:

1-1/2” 5.3 1bs. 10 ft. 53 lbs. 65 lbs. NDH38FV-W3 W3

and 200 Ibs. MDH3812 W2 & W3
Smaller 300 1bs. MDH1258 W3
728 lbs. NDH4S-W3 W3

3” 16.3 1bs. 10 ft. 163 1bs. 200 Ibs. MDH3812 W2 & W3
and 300 1bs. MDH1258 W3
Smaller 728 1bs. NDH4S-W3 W3
8” 68.3 1bs. 10 ft. 683 1bs. 728 1bs. NDH4S-W3 W3

and Smaller

Note: Weight full of water for 2” and smaller piping based on 17 thick fiberglass pipe insulation
with an ASJ paper covering. Weight full of water for 8 and smaller piping based on 2” thick
fiberglass pipe insulation with an ASJ covering.

Carbon Steel Piping Sch 80 - Vaporized Gas / Vent Usage:
Nom. Empty-Pipe Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity: Hanger Part: Fitment:

2” 5.1 Ibs. 10 ft. 51 Ibs. 65 1bs. NDH38FV-W3 W3
and 200 Ibs. MDH3812 W2 & W3
Smaller 300 Ibs. MDHI1258 W3

728 1bs. NDH4S-W3 W3

4 15.0 lbs. 10 ft. 150 Ibs. 200 lbs. MDH3812 W2 & W3
and 300 Ibs. MDHI1258 W3
Smaller 728 1bs. NDH4S-W3 W3
107 64.5 Ibs. 10 ft. 645 1bs. 728 1bs. NDH4S-W3 W3

and Smaller

Note: Weight full of water for 1-1/2” and smaller piping based on 1 thick fiberglass pipe insulation
with an ASJ paper covering. Weight full of water for 4” and smaller piping based on 2” thick
fiberglass pipe insulation with an ASJ covering.



~ SINGLE HANGER ELECTRICAL CONDUIT ~
Vertical Hanger Gravity Support Reference Tables

EMT Conduit - with Conductors Usage:

Nom. Wire-Filled Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot:  Spacing:  Load: Capacity: Hanger Part: Fitment:
2-1/2” 6.3 Ibs. 10 ft. 63 Ibs. 65 Ibs. NDH38FV-W3 W3
and 200 lbs. MDH3812 W2 & W3
Smaller 300 Ibs. MDH1258 W3
728 1bs. NDH4S-W3 W3
4” 13.1 lbs. 10 ft. 131 1bs. 200 Ibs. MDH3812 W2 & W3
and 300 Ibs. MDH1258 W3
Smaller 728 lbs. NDH4S-W3 W3
IMC Conduit - with Conductors Usage:
Nom. Wire-Filled Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot: Spacing:  Load: Capacity: Hanger Part: Fitment:
2” 5.8 Ibs. 10 ft. 58 Ibs. 65 Ibs. NDH38FV-W3 W3
and 200 lbs. MDH3812 W2 & W3
Smaller 300 lbs. MDH1258 W3
728 1bs. NDH4S-W3 W3
4” 16.0 1bs. 10 ft. 160 1bs. 200 Ibs. MDH3812 W2 & W3
and 300 lbs. MDH1258 W3
Smaller 728 1bs. NDH4S-W3 W3
RMC Conduit - with Conductors Usage:
Nom. Wire-Filled Hanger Hanger  No-Drill™  No-Drill™ Verco Deck
Pipe Size: Wt. Per Foot: Spacing:  Load: Capacity: Hanger Part: Fitment:
1-1/2” 4.9 lbs. 10 ft. 49 1bs. 65 Ibs. NDH38FV-W3 W3
and 200 lbs. MDH3812 W2 & W3
Smaller 300 lbs. MDH1258 w3
728 lbs. NDH4S-W3 w3
4” 19.5 lbs. 10 ft. 1951bs. 200 lbs. MDH3812 W2 & W3
and 300 lbs. MDH1258 w3
Smaller 728 lbs. NDH4S-W3 w3
6” 57.7 1bs. 10 ft. 577 1bs. 728 Ibs. NDH4S-W3 W3

and Smaller



_ "
&2 3o [B3 =24"]
2200048
< E (1/2"-13) \J (3/8"-16) = m
@9 (5/8"11) 3 i)
o 17— 7w {F=2-58"
(1") Gap Between Hanger Bodies
—O}0 eapcer morssrz | K]
[C = 2"] (1") Gap Between Hanger Bodies
—O—O  BADGER MDHa3812 W
1") Gap Between Hanger Bodies
{G — 2_1/2||} (1") Gap Betw g I
‘O BADGER MDH1258
[D - 3"] (1") Gap Between Hanger Bodies
}O {O BADGER MDH1258
(1") Gap Between Hanger Bodies
—_—
— . "
c %gm {H = 3-1/8"
2200338
5 E (1/2"13)  (5/g711) (3/8"16) IE g ‘H
z &
_/\JW {F = 2-5/8"}

[A = 2-1/2"]

(0") Gap Between Hanger Bodies

/]
(0") Gap Between Hanger Bodies
BADGER EM-A48EHAN
NDH38FV-W3 d43oava
BADGER EM-A48EHAN
NDH38FV-W3 H3vavg
{E = 2-3/8"}

@
k-]

(11213) (557 (/8™

BADGER
NDH4S-W3
O
EM-SFHAN
d3gava

§

[B1 =2-1/4" to 16"]
[B2 = 2-1/4" to 24"]

~ MINIMUM BETWEEN SPACINGS DETAIL ~

~ BaDGER INDUSTRIES ~
Detail (BNDH-MBS)

Minimum Between
No-Dril™Hangers
Spacing Condition

Babaer INDUSTRIES

No-Drill™Hanger

Between Spacing
Capacity Reduction

[A=2-1/2"]

None

[B1 = 2-1/4" to 16"]

Varies For Vertical Hanger
Connections See Badger
Detail (NDH4S-W3)

[B2 = 2-1/4" to 24"]

Varies For Rigid Seismic Brace
Connections See Badger
Detail (RSB-NDH4S-W3)

[B2 = 2-1/4" to 24"]

Varies For Cable Seismic Brace
Connections See Badger
Detail (CSB-NDH4S-W3)

Rigid & Cable Seismic Brace

(1") Gap Between Hanger Bodies

[B3 =24"] Connections See Badger
Detail (SB-NDH4S-W3-DAF)
[C=2"] None
[D =3"] None
{E =2-3/8"} None
{F =2-5/8"} None
{G =2-1/2"} None
{G =3-1/8"} None
{H =2-3/8"} None
{l =1-3/4"} None
{J=2-1/4"} None

- OFO BADGER MDH3812 W
{1 =1-3/4")
BADGER EM-A48EHAN
NDH38FV-W3 d3oavd
(J = 2-1/4"

[N
<

{0 BADGER MDH1258

(0") Gap Between Hanger Bodies

[ x ] Represents Minimum Required Spacing Between
Same Badger No-DrilT™MHanger Types.

{ x } Represents Minimum Required Spacing Between
Different Badger No-Dril™Hanger Types.

(3") Minimum Spacing Required Between Badger
No-Drill™Hangers And Unfilled Drilled Anchor Holes, Failed
Or Abandoned Shot-Pins And Shot-Pins Or Anchorage
Concrete Damage Or Blow Outs.

Proximity Or Spacing Of Grout Filled Anchor Holes To A
Badger No-Dril™Hanger Does Not Impact The Badger
No-Drill™Hangers Listed Capacities.




R No-p) For VERCO W3 Decking
€) Using No-Drill™Hanger

<. Part No. NDH38FV-W3
) Part No. MDH3812
Part No. MDH1258
Part No. NDH4S5-W3

———————— e —

VERCO DECKING, INC.
a NI QOR company

3" Deep Deck
Galvanized or Phosphatized/Painted
www.vercodeck.com

45" 7" | 12"

\ 4
L

L




~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK ™ or PLWS3,
Steel Decking With (fc Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

Steel Deck
Groove
(TYP)

Deck Grooves

¢7(TYP.)

7\

(7-1/2") (TYP)

Adjust (3/8"-16)

0° To 15°

\ A
Steel Decking
Min. 20 GA——

Min. (12 GA. 1"x1"x1") 90° Angle Clip
With Min. (12 GA.) ASTM A641 Hanger Wire,
Tied With Not Less Than (4 Tight Turns) In
(1-1/2") Inches. Secured Angle Clip To The
[NDH38FV-W3] With A (3/8"-16 x Min. 1")
Bolt. Bolt Shall Not Contact Steel Decking.
Angle Clip With Wire Can Be Rotated In Plan
360° About It's Conn. To The [NDH38FV-W3].

All Threaded Rod
To Be Visible In Swivel

Nut Thread Inspection Hole.
Inspection Hole Can Be
Rotated In Plan View Other
= Than Depicted

ASTM A36 Or A307
(3/8"-16) Vertical
Support Rod.
Compression Loads
May Require Rod
To Be Stiffened

For Vertical Support Rod
Sizes Larger Than (3/8")
Use Hex Coupler Nut Wit?/—>
(3/8"-16) Threaded Stud

Steel Deck
Groove

(TYP.)

Aircraft Cable Can Be Used In Place Of Wire

~ BapgeRr INDUSTRIES ~
Detail (NDH38FV-W3)
ﬁgf’g'ifl‘l T';‘a‘fgg:rs [NDH38FV-W3] BabaGer INDusTRIES
-un Maximum

Part # [NDH38FV-W3] Capacity [NDHS38FV-W3]

. No-Drill™Hanger
Gravity (ASD) 65 Ibs. Patented
Gravity + Seismic (ASD) 130 Ibs.
Gravity + Seismic (LRFD) 182 Ibs.

(3/8"-16) JA
Minimum Between Spacing _ . Swivel Nut K Underside Of
See Detail (BNDH-MBS) | 2-1/21n. e [NDH38FV-W3]
. . . Installed Through
Minimum Edge Distance 1-1/2 in. Elastomeric
—f— Viblso™Grommet o

Capacity Not Controlled By Concrete Failure,
Seismic Concrete Omega Not Required For
Gravity And/Or Seismic Capacities. _ }
For Gravity + Seismic Loadings, The Gravity g BADGER © EM-A48EHAN
Demand Shall No Exceed The Gravity Only & NDH38FV-W3 d3aovavd
Allowable Load.
Proximity Or Spacing Of New Or Existing -
Cast-In-Place Inserts Or Drilled Hole Anchors - #Sﬂgg':dvevcv); —
To The [NDH38FV-W3] Does Not Impact The [ W3]
Listed [NDH38FV-W3] Capacities.

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other.
Clean The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (1-1/2") Away From Dented Or
Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Accurately Place One End Of The Badger [NDH38FV-W3] Into
One Steel Decking Groove, Aligning The Length Of The [NDH38FV-W3] To Be Perpendicular To The Length Of The Steel Decking Grooves.
Then Press The Opposite End Of The [NDH38FV-W3] Until The Opposite End Of The [NDH38FV-W3] Compresses And Snaps Into Its Applicable
Steel Decking Groove.

INSPECTION: Check For Engagement Of Both [NDH38FV-W3] Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of
[NDH38FV-W3] Body Length With The Length Of The Steel Decking Grooves. Check For Proper Attachment Of ltems To The Badger
[NDH38FV-W3].

—



~ INSTALLATION DETAIL ~

0720

VERCO - W3 FORMLOK ™ or PLWS3,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

Steel Deck Steel Deck

Groove
l (TYP)

Deck Grooves |

Groove (TYP.)—
h

TYP. .
( ) (7-1/2") (TYP) (4-1/2")

™ et

Steel— 20— - - - - - - e o // %
Decking e N I

Min. 20 GA. " EQ. (+/-) (1")
Min. |

EQ. (+/-) (1)

Min. (12") / Max. (60") ——>| (1.”)
Min.

(TYP.x2) (3/8"-16) ASTM A36

Or A307 Threaded Rod Or Tap Bolt (TYP) ASTM A36 Or A307—/ > ;?nﬁgs“t"r'& J&ﬁ’f@‘{é,’fkoun < Hoes. Or With
With (T&B) Hex Nut(s) And (T&B) Min. Vertical Support Rod With Mag (9/16"x1-1/8" x 2" 0.c.) Slotted B:slck Oveninas
(3/16"x1-5/8") ASTM A36 Square Strut Hex Nut, Min. (3/16"x1-5/8") ASTM A36 Square Strut Lenath Gan Be Installed P Sicul po sﬁ q
Washers. Threads To Be Visible In Inspection  Strut Washer And B-Line BN200 Strut Nut. T rlét elnlg K gr.‘b /eFInts alled Ferpendicular Or Skewe
Hole. Threaded Rod Shall Not Contact Steel ~ For 3/8" Rod Size Tighten Hex Nut (19 ft.« Ibs.). 0 steel Deck hibs/Hutes
Decking. Tighten Both End Connections For 1/2" Rod Size Tighten Hex Nut (50 ft.« Ibs.). B I
Evenly Until Strut Member Is In Contact For 5/8" Rod Size Tighten Hex Nut (50 ft.+ Ibs.). ~ DADGER INDUSTRIES ~
Flat To Flat With Steel Decking, Do Not For 3/4" Rod Size Tighten Hex Nut (50 ft.* Ibs.). Detail (NDH38FV—W3-DAF)
Over Tighten Causing Pre-Loading Of The Compression Loads May Require Vertical Support Double
[NDH38FV-W3] Hangers. Then Tighten Rod To Be Stiffened. For Vertical Support Rod BADGER INDUSTRIES [NDH38FV-W3]
Both Upper Hex Nuts With Square Washers Off-Sets Greater Than (1") Calculate Reduced No-Drill™Hanger -
Snug Tight Maximum Capacity 9 MaX|QO
Part # [NDH38FV-W3] Capacity
BADGER INDUSTRIES
ravity (ASD
[NDH38FV-W3] Gravity (ASD) 110 Ibs.
STM . _
No-Drill™Hanger Gravity + Seismic (ASD) 220 |bs.

Patented

Gravity + Seismic (LRFD) | 308 Ibs.

Minimum Between Spacing .
See Detail (BNDH-MBS) 2-1/2'in.

(3/8"-16) JA
Swivel Nut .
With Thread ——— [L,{,”g,i?g‘,j:f,_(\),\f,a] Minimum Edge Distance 1-1/2 in.
Inspection Hole
:E”IStat"ed Through Capacity Not Controlled By Concrete Failure,
L Vigfsgﬂeé';mmet _ Seismic Concrete Omega Not Required For
N Gravity And/Or Seismic Capacities.
For Gravity + Seismic Loadings, The Gravity
—~ - Demand Shall No Exceed The Gravity Only
8 BADGER @ EM-AJd8EHAN Alowable Load.
< NDH38FV-W3 439avd Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
Undersida Of To The [NDH38FV-W3] Does Not Impact The
= [NDH38FV-W3] - Listed [NDHSSFV—WS] Capacities.
______________________________________ —., | Snug Tight Shall Be The Tightness Required
I_Not|ce + | To Bring The Connected Plies Into Firm
I Contact, And That The Nuts Could Not Be
INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Removed Without The Use Of A Wrench.

Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel Decking Grooves !
To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (1-1/2") Away From |_
Dented Or Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Tt Tt T T Tttt '|
Accurately Place One End Of The Badger [NDH38FV W3] Into One Steel Decking Groove, Aligning The Length Of The [NDH38FV-W3] To Be Perpendicular
To The Length Of The Steel Decking Grooves. Then Press The Opposite End Of The [NDH38FV—W3] Until The Opposite End Of The [NDH38FV-W3] !
Compresses And Snaps Into Its Applicable Steel Decking Groove.

INSPECTION: Check For Engagement Of Both [NDH38FV-W3] Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of [NDH38FV-W3] |
Body Length With The Length Of The Steel Decking Grooves. Check For Proper Attachment Of ltems To The Badger [NDH38FV-W3].




~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK ™ or PLWS3,
Steel Decking With (fc Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

~ BabpGER INDUSTRIES ~

Steel Deck 3" ;
Steel Deck Detail (NDH38FV-W3-DSF)
Groove Double
(TYP) Groove BaDGER INDUSTRIES [NDH38FV-W3]
' <— (TYP. No-Drill™Hanger i
v g Maximum
‘ i N\ Part # [NDH38FV-W3] Capacity
Steel Decking
(TYPx2) (3/8"-16) Min. 20 GA. Gravity (ASD) 130 Ibs.
ASTM A36 Or A307
Tap Bolt Or Threaded (TYP.) ASTM A36 Or A307 : : ;
Rod With Hex Nut, And <w’;mical Support Rod With Hex Nut, GraVIty + Seismic (ASD) 255 IbS
Min. (3/16"x1-5/8") Min. (3/16"x1-5/8") ASTM A36 Square ) .
ASTM A36 Square Strut Washer And B-Line BN200 Strut Nut. Gravity + Seismic (LRFD) | 360 |bs.
Strut Washer, Tighten For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.).
Snug Tight To Secure For 1/2" Rod Size Tighten Hex Nut (50 ft.- Ibs.). Minimum Between Spacing 2 1 /2 .
Strut Against Grommet For 5/8" Rod Size Tighten Hex Nut (50 ft.« Ibs.). See Detail (BNDH-MBS) = in.
On Viblso™ Edition For 3/4" Rod Size Tighten Hex Nut (50 ft.« Ibs.).
[NDH38FV-W3]. Bolt Compression Loads May Require Vertical L . ,
Threads To Be Visible Support Rod To Be Stiffened Minimum Edge Distance 1-1 /2 In.
In Inspection Hole. - -
Bolt Shall Not Contact 12 GA. Min. 1-5/8"x1-5/8" Capacity Not Controlled By Concrete Failure,
Steel Decking Single Strut With (9/16") Round Holes, Seismic Concrete Omega Not Required For
Or Max. (9/16"x1-1/8" x 2" 0.c.) Slotted Gravity And/Or Seismic Capacities.
Back Openings A For Gravity + Seismic Loadings, The Gravity
Min. (2-1/2") Demand Shall No Exceed The Gravity Only
//‘H —Max. (60) Allowable Load.
BADGER EM-AJ8EHAN
NDH38FV-W3

Cast-In-Place Inserts Or Drilled Hole Anchors
To The [NDH38FV-W3] Does Not Impact The
EQ. Listed [NDH38FV-W3] Capacities.

Snug Tight Shall Be The Tightness Required
To Bring The Connected Plies Into Firm

439ava ‘ Proximity Or Spacing Of New Or Existing

Vertical Support Rod
Shall Be Centered
Between Each Badger
[NDHSFV-W3] Hanger.

)QOﬁ

For Non Centered Vertical a2 Contact, And That The Nuts Could Not Be
Support Rod, Calculate Removed Without The Use Of A Wrench.
Reduc_ed Maximum
Capacity EQ. BADGER INDUSTRIES
BADGER | ~ | em-ndssHan ‘ [NDH38FV-W3]
NDH38FV-W3 || d3oave ‘ No-Drill™ Hanger
Patented

Underside Of Double
[NDH38FV-W3] With Strut Member
Assembly By Others

[ = = —— e ——  —  —  —  — = —  — — —

' . : (3/8"-16) JA

| Notice: | Swivel Nut A Underside Of

. INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent With Thread =——— [NDH38FV-W3]

' Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other. ! Inspection Hole

| Clean The Steel Decking Grooves To Remove Concrete And/Or Fire | Installed Through

. Proofing Residue. Stay A Minimum (1-1/2") Away From Dented Or Elastomeric

+ Damaged Steel Decking Grooves, Decking Edges, Openings And L ) ™

| Closures. Accurately Place One End Of The Badger [NDH38FV-W3] | Enm Viblso™ Grommet ]

, Into One Steel Decking Groove, Aligning The Length Of The |

+ [NDH38FV-W3] To Be Perpendicular To The Length Of The Steel Decking

| Grooves. Then Press The Opposite End Of The [NDH38FV-W3] Until | 4
The Opposite End Of The [NDH38FV-W3] Compresses And Snaps Into = -

1 Its Applicable Steel Decking Groove. N BADGER EM-A48EHAN
INSPECTION: Check For Engagement Of Both [NDH38FV-W3] Ends & - H3aovavgd

! Into Steel Deck Grooves. Check For Perpendicular Alignment Of | NDH38FV-W3

' [NDH38FV-W3] Body Length With The Length Of The Steel Decking

| Grooves. Check For Proper Attachment Of Items To The Badger | -

. [NDH38FV-W3]. H e U Underside Of | |

e e e e ——— —— ——————————— ! [NDH38FV-W3]




~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLW3,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

N N
Steel Deck 90° Angle Clip Deck Grooves 45° Angle Clip Steel Deck
Groove Vertical Hanger (TYP) Seismic Brace Groove
(TYP.) — v (TYP.)
T ‘ /\
D) 772" (TYP) > A

Steel Decking Body
Min. 20 GA—— Wedge
End View
(12 GA. 1"x1") (12 GA. 1"x1")
90° Angle Clip With 45° Angle Clip With
(12 GA.) ASTM A641 (12 GA.) ASTM A641

Hanger Wire, Tied
With Not Less Than
(4 Tight Turns) In
(1-1/2") Inches

/| e

0° To 15°

Vertical

Maximum Secure Angle Clip To The [MDH3812] With A (3/8"-16 x Min.1-1/2") Bolt,
Capacity Tightened To Secure Angle Clip Flat-To-Flat With [MDH3812]. Angle Clip /
Per Chart With Wire Can Be Rotated In Plan 360° About It's Conn. To The [MDH3812]. &\)‘Q\\

~ BaDGER INDUSTRIES ~
Detail (MDH3812-W3CW)

BapGer INDUSTRIES
No-Drill™Hanger

Part # [MDH3812] MDH3812]
Hole “A” = (1/2"-13) Maxirmum
Hole “B” = (3/8"-16) Capacity

90° Angle Clip Vertical Hanger (ASD) | 175 Ibs.

45° Angle Clip Seismic Brace (ASD) | 175 Ibs.

45° Angle Clip Seismic Brace (LRFD) | 245 |bs.

Minimum Between Spacing 2in
See Detail (BNDH-MBS) .

Minimum Edge Distance 6 in.

Listed Capacities Controlled By Failure Of Identified
12 GA. Wire, Not By Concrete Failure. Thus Seismic
Concrete Omega Not Required. Use Of Stronger Wire
Or Alternate Materials (ie; Aircraft Cable) Will Require
Seismic Concrete Omega To Be Included When
Determining Seismic Design Demand.

Depicted Angle Clip Assemblies Can Be Rotated In
Plan 360° About Their Conn. To The [MDH3812].

Proximity Or Spacing Of New Or Existing Cast-In-Place
Inserts Or Drilled Hole Anchors To The [MDH3812]
Does Not Impact The Listed [MDH3812] Capacities.

—

Hanger Wire, Tied
With Not Less Than
(4 Tight Turns) In
(1-1/2") Inches

Brace
Angle 45°
(+/-)15°
30° To 60°

Vertical

&
&

C
®sz§2 Q‘(&
Q?}

BADGER INDUSTRIES
[MDH3812]
No-Drill™Hanger
Patent #9,850,659

Torque-Off Hex Nut
Threaded Barrel

Hole “B”
lﬁ Lock Washer—‘
\

(1/2"13)

Threaded Shaft
With Chisel Point
E End

(") Wide Body .
Chisel Point End—; 1o'® A 1
I
L

\{

T AT AT I AT AT

‘ ‘ ‘ VAV N AN AL VI VN VAW

1 For Proper Installation Flat
) Surface Shall Face Down

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel |
Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel

Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A
Minimum (6") Away From Dented Or Damaged Steel Decking Grooves, Decking |
Edges, Openings And Closures. Accurately Place One End Of The Badger ,
[MDH3812] Into One Steel Decking Groove, Aligning The Length Of The [MDH3812] *
To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding |
The [MDH3812] Firmly In Place, Tighten The Torque-Off Hex Nut Using An Open ,
End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The !
Threaded Barrel. For Reference A Minimum (15 ft.- Ibs.) Of Torque Is Required. |

INSPECTION: Check For Engagement Of Both [MDH3812] Chisel Point Ends
Into Steel Deck Grooves. Check For Perpendicular Alignment Of [MDH3812] Body
Length With The Length Of The Steel Decking Grooves. Check That Lock Washer
Is Compressed And Torque-Off Hex Nut Has Broken Away From Threaded Barrel.
Check For Proper Connection Of Attachments To The Badger [MDH3812].



~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLW3,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

Steel Decking

V4

Min. 20 GA. Deck Grooves Vertical Support Rod Steel Deck
ToBe E d At Top Of
P (TYP) K No-Dril™ Hanger G‘(El?%‘ée)

7\

~ BapGer INDUSTRIES ~
Detail (MDH3812-W3)

BapGER INDUSTRIES
No-Drill™Hanger

(TYP.) ASTM A36 Or A307
Vertical Support Rod Per (MRL)
Vertical Support Rod Shall Not
Contact Decking. Compression
Loads May Require Vertical
Support Rod To Be Stiffened

(7-172")
. (TYP.) (MRL) Minimum Rod Length
To Be Measured From Underside Of
[MDH3812] To Top Of Pipe Hanger,
Top Of Trapeze Or Top Of Equipment
Unit That Rod Is Connected To.

—— (MRL) 3/8"-16 Rod = (8")
Part # [MDH3812] MDH3812] % _ (MRL) 1/2"13 Rod = (18"
Hole “A” = (1/2"-13) Maximum (MRL) Not Required For Wire,
Hole “B” = (3/8“-1 6) Capacity ' Cable Or Sheet Metal Strap
Hangers
Gravity (ASD) 200 Ibs.
. . . NOTE:
Gravity + Seismic (ASD) 400 Ibs. Vertical Support Hangers Shall Be
] . Per Approved Project Construction
Gravity + Seismic (LRFD) | 560 |bs. Documents, Which May Differ From
The Examples Depicted Within This
Minimum Between Spacing 2 . Detail. Hanger Can Be Rotated I_n
See Detall (BNDH_M BS) In . glua:piiORﬁgout It's Conn. To Vertical
Minimum Edge Distance 6 in. BADGER INDUSTRIES

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH3812] Does Not Impact The
Listed [MDH3812] Capacities.

(1" Wide Body
Chisel Point End

[MDH3812]
No-Drill™Hanger
Patent #9,850,659
Torque-Off Hex Nut

Threaded Barrel
Lock Washer—‘

(1/2"-13)

|- = T AT AT T P AT

Threaded Shaft
With Chisel Point
End
| VAL AV R é

.

L

Notice:

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or Damaged Steel Decking
Grooves, Decking Edges, Openings And Closures. Accurately Place One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The
Length Of The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding The [MDH3812] Firmly In Place, Tighten
The Torque-Off Hex Nut Using An Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For Reference A

Minimum (15 ft.- Ibs.) Of Torque Is Required.
INSPECTION:

Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of
[MDH3812] Body Length With The Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex Nut Has Broken
Away From Threaded Barrel. Check For Proper Connection Of Attachments To The Badger [MDH3812].

Tjor Proper Installation Flat
Surface Shall Face Down



~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLWS3,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

Steel Decking T A\
. 3
Min. 20 GA. Deck Grooves &) Tap Bolt To Be Steel Deck
Exposed At Top Of
+ (TYP-) No-Drill™Hanger Groove
— £ ‘ (TYP)
/\ Y ==
I I 1 "
~ BapGer INDUSTRIES ~ - — (7-172") !
Detail (MDH381 2-W3CS) Lol — — — — — — Multiple Square Strut Washers Used As
o Spacers To Develop An Off-Set Gap
BapGER INDUSTRIES _ Maximum . Between Steel Deck And Strut Member
No-Dril ™Hanger [MDH3812] '2’:'”) Cantilever (4-1/2") x'”; 12 GA. 1-5/8"x1-5/8" Single Strut
Part # [MDH3812] Cantilevered j With (9/16") Round Holes, Or With
wnn i Strut (3/8"-16") ASTM A36 Max. (9/16"x1-1/8" x 2" o.c.) Slotted
Hole “A” = (1/2"-13) Maximum Or A307 Tap Bolt Or Threaded Rod Back Openings. Strut Orientation
Hole “B” = (3/8"-16 Capacit With Hex Nut, And Min. (3/16"x1-5/8")  Shall Be Installed As Depicted,
( ) pacty ASTM A36 Square Strut Washer Parall To The Length O The
; Tighten Snug Tight. Bolt / Threaded 3812] (+/-) (2-1/2°
GraVIty (ASD) 200 IbS Rod Shall Not Contact Steel Decking
Gravity + Seismic (ASD (TYP.) ASTM A36 Or A307
Y ( ) 400 IbS Vertical Support Rod With Hex Nut,
. . . Min. (3/16"x1-5/8") ASTM A36 Square
Gravity + Seismic (LRFD) | 560 |bs. Strut Washer And B-Line BN200 Strut Nut.
For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.).
Minimum Between Spacing 2in For 1/2" Rod Size Tighten Hex Nut (50 ft.* Ibs.).
Detail (BNDH-MB . For 5/8" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
See Deta ( S) For 3/4" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
. . . Compression Loads May Require
Minimum Edge Distance 6 n. Vertical Support Rod To Be Stiffened

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

BaDGER INDUSTRIES
[MDH3812]
No-Drill™Hanger
Patent #9,850,659

Torque-Off Hex Nut (1/2"-13)

“RY Threaded Barrel Threaded Shaft
Proximity Or Spacing Of New Or Existing (1") Wide Body 1010 «ar Hole B ook Washar With Chisel Point
Cast-In-Place Inserts Or Drilled Hole Anchors Chisel Point End R F ook Washer] End
To The [MDH3812] Does Not Impact The I | — — T AT TR AT
Listed [MDH3812] Capacities. } 1 || SvMaM N b g
Snug Tight Shall Be The Tightness Required 3 3 ij Proper Istallation Flat
To Bring The Connected Plies Into Firm ) Surface Shall Face Down
Contact, And That The Nuts Could Not Be
Removed Without The Use Of A Wrench.
Notice

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or Damaged Steel Decking
Grooves, Decking Edges, Openings And Closures. Accurately Place One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The
Length Of The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding The [MDH3812] Firmly In Place, Tighten
The Torque-Off Hex Nut Using An Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For Reference A

Minimum (15 ft.- Ibs.) Of Torque Is Required.
INSPECTION:

Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of
[MDH3812] Body Length With The Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex Nut Has Broken

Away From Threaded Barrel. Check For Proper Connection Of Attachments To The Badger [MDH3812].



~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK ™ or PLWS3,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

N
"
TYP.x2) Tap Bolt To B Steel Deck

For Non Centered Deck Grooves ( éxz)o:gd :t To(:) O?‘

i ‘ Groove
Vertical Support (TYP.) ; No-Drill™Hanger
Rod Calculate + * T (TY P)
Reduced e
Maximum N Y
Capacity < m \

— (7-1/2") .
______________ ' Steel Decking

Min. 20 GA.

W

Min.

("

0 oo —
B S — O S —
EQ. EQ.
("
Min. (2") > Min.
Max. (24"
@) (TYP.x2) 12 GA. 1-5/8"x1-5/8"———

ASTM A36 Or A307 Tap Bolt
Or Threaded Rod With Hex Nut,
And Min. (3/16"x1-5/8") ASTM A36
Square Strut Washer. Tighten Snug
Tight. Bolt / Threaded Rod Shall
Not Contact Steel Decking

~ BADGER INDUSTRIES ~
Detail (MDH3812-W3-DSF)

BapGer INDUSTRIES
No-Drill™Hanger

Part # [MDH3812] MOLa2)
Hole “A” = (1/2"-13) Maximum
Hole “B” = (3/8"-16) Capacity
Gravity (ASD) 400 Ibs.
Gravity + Seismic (ASD) 760 Ibs.
Gravity + Seismic (LRFD) | 1,064 |bs.
Minimum Between Spacing 2in

See Detail (BNDH-MBS) In.
Minimum Edge Distance 6in.

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH3812] Does Not Impact The Listed
[MDH3812] Capacities.

Snug Tight Shall Be The Tightness Required
To Bring The Connected Plies Into Firm
Contact, And That The Nuts Could Not Be
Removed Without The Use Of A Wrench.

Single Strut With (9/16") Round Holes, Or With
Max. (9/16"x1-1/8" x 2" o.c.) Slotted Back Openings.
Strut Length Can Be Installed Perpendicular Or
Skewed To Steel Deck Ribs/Flutes

| <N—(TYP.) ASTM A36 Or A307

Vertical Support Rod With Hex Nut,
Min. (3/16"x1-5/8") ASTM A36 Square
Strut Washer And B-Line BN200 Strut Nut.
For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.).
For 1/2" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
For 5/8" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
For 3/4" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
Compression Loads May Require
Rod To Be Stiffened

BADGER INDUSTRIES
[MDH3812]
No-Drill™Hanger
Patent #9,850,659

Torque-Off Hex Nut
F Hole “B”

Threaded Barrel
— T VAT MW T T A Wl/‘\“w\‘i\‘

(1/2"-13)
Threaded Shaft
With Chisel Point
End

For Proper Installation Flat
Surface Shall Face Down

(1" Wide Body
Chisel Point End

Hole Aj

LockWasher—‘
‘HHHHHHHVH

VWL NS AN P VW VA VA A

Notice:

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking !
Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel Decking Grooves To
Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or |
Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Accurately Place
One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The Length Of
The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves. While |
Holding The [MDH3812] Firmly In Place, Tighten The Torque-Off Hex Nut Using An Open End ,
Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For *
Reference A Minimum (15 ft.« Ibs.) Of Torque Is Required. |

INSPECTION: Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel Deck *
Grooves. Check For Perpendicular Alignment Of [MDH3812] Body Length With The Length Of
The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex
Nut Has Broken Away From Threaded Barrel. Check For Proper Connection Of Attachments
To The Badger [MDH3812]. J'



Steel Decking T
3" )
Min. 20 GA. Deck Grooves To Be Exposed At Top Of
TYP ) * JNO-DriIIT"‘Hanger
\ T

~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK ™ or PLWS3,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

N
Vertical Support Rod Steel Deck
Groove
(TYP)

~ BapGer INDUSTRIES ~
Detail (MDH1258-W3)

BapGeR INDUSTRIES
No-Drill™Hanger

Part # [MDH1258] MDH1256]
Hole “A” = (1/2'-13) Maximum
Hole “B” = (5/8"-11) Capacity

(TYP) ASTM A36 Or A307 ——/

Vertical Support Rod Per (MRL).
Vertical Support Rod Shall Not
Contact Decking. Compression
Loads May Require Vertical
Support Rod To Be Stiffened

+ 7

Gravity (ASD)

300 Ibs.

Gravity + Seismic (ASD)

600 Ibs.

Gravity + Seismic (LRFD) | 840 |bs.
Minimum Between Spacing 3in
See Detail (BNDH-MBS) .
Minimum Edge Distance 6 in.

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH1258] Does Not Impact The
Listed [MDH1258] Capacities.

(2") Wide Body
Chisel Point End

(7-1/2")

(TYP.) (MRL) Minimum Rod Length
To Be Measured From Underside Of
[MDH1258] To Top Of Pipe Hanger,
Top Of Trapeze Or Top Of Equipment
Unit That Rod Is Connected To.

(MRL) 1/2"-13 Rod = (8")
(MRL) 5/8"-11 Rod = (18")
(MRL) Not Required For Wire,

Cable Or Sheet Metal Strap
Hangers

NOTE:

Vertical Support Hangers Shall Be
Per Approved Project Construction
Documents, Which May Differ From
The Examples Depicted Within This
Detail. Hanger Can Be Rotated In
Plan 360° About It's Conn. To
Vertical Support Rod

BaDGER INDUSTRIES
[MDH1258]
No-Drill™Hanger
Patent #9,850,659

Torque-Off Hex Nut (3/4"-10)

TA TN T M M A

MMM AT T RN

Threaded Barrel
Lock Washer—‘ 1

|
1 4(_‘)2

A YW VL A WL AL W L

Threaded Shaft
With Chisel Point
E End

]

Notice:

| INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean
+ The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or Damaged Steel Decking
1 Grooves, Decking Edges, Openings And Closures. Accurately Place One End Of The Badger [MDH1258] Into One Steel Decking Groove, Aligning The
| Length Of The [MDH1258] To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding The [MDH1258] Firmly In Place, Tighten
+ The Torque-Off Hex Nut Using An Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel.

Minimum (20 ft.
INSPECTION:

Ibs.) Of Torque Is Required.

Check For Engagement Of Both [MDH1258] Chisel Point Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of
[MDH1258] Body Length With The Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex Nut Has Broken

L Away From Threaded Barrel. Check For Proper Connection Of Attachments To The Badger [MDH1258].

EE——
@) ~

or Proper Installation Flat
Surface Shall Face Down

For Reference A



~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLWS3,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

Steel Deckirw N/
Min. 20 GA. Deck Grooves Tap Bolt To Be Steel Deck
(P e Dl Hanger Groove
(TYP)
A\

r‘

~ BabpGcer INDusTRES ~ | T T T — (7-112")
Detail (MDH1258-W3CS) | @ H-l—o——— — — — Multiple Square Strut Washers Used As
o Spacers To Develop An Off-Set Gap
BApGER INDUSTRIES , Maximum _ Between Steel Deck And Strut Member
No-Dril ™Hanger [MDH1258] ':’:'”) Cantilever (4-1/2") '(\1'")‘ 12 GA. 1-5/8'x1-5/8" Single Strut
Part # [MDH1258] Cantilevered K With (9/16") Round Holes, Or With
wpn " Strut (5/8"-11") ASTM A36 Max. (9/16'x1-1/8" x 2" 0.c.) Slotted
Hole “A” = (1/2"-13) Maximum Or A307 Tap Bolt Or Threaded Rod gack \?Vﬁ:anlngj-TOgenlErlle In Bzc+< Of
“B” = "_ i With Hex Nut, And Min. (3/16"x1-5/8")  Strut Will Need To Be Enlarged To
Hole "B” = (5/8"-11) Capacity ASTM A36 Square Strut Washer. gcpept (_5/8';:11 )"TSP IBOIL ||S(tert
; Tighten Snug Tight. Bolt / Threaded rientation Shall Be Installed As
Gravity (ASD) 300 lbs. Rod Shall Not Contact Steel Decking ~ Depicted, Parallel To The Length

600 Ibs.

Gravity + Seismic (ASD)

(TYP.) ASTM A36 Or A307
Vertical Support Rod With Hex Nut,

Min. (3/16"x1-5/8") ASTM A36 Square
Strut Washer And B-Line BN200 Strut Nut.

For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.).
For 1/2" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
For 5/8" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
For 3/4" Rod Size Tighten Hex Nut (50 ft.- Ibs.).

Gravity + Seismic (LRFD) | 840 Ibs.
Minimum Between Spacing 3in
See Detail (BNDH-MBS) n.
Minimum Edge Distance 6 in.

Compression Loads May Require
Vertical Support Rod To Be Stiffened

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH1258] Does Not Impact The
Listed [MDH1258] Capacities.

Snug Tight Shall Be The Tightness Required
To Bring The Connected Plies Into Firm
Contact, And That The Nuts Could Not Be
Removed Without The Use Of A Wrench.

(2") Wide Body

Of The [MDH1258] (+ / -) (2-1/2°)

BabGeRr INDUSTRIES
[MDH1258]
No-Drill™Hanger
Patent #9,850,659
Torque-Off Hex Nut

(3/4"-10)

T RIMAT TN AT

Threaded Barrel
Lock Washer—‘ 1

Threaded Shaft
With Chisel Point
End

Chisel Point End— 1% Wﬂ
I
Ty/ 1
{ Il

A LA VLA WL L WL )

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or Damaged Steel Decking
Grooves, Decking Edges, Openings And Closures. Accurately Place One End Of The Badger [MDH1258] Into One Steel Decking Groove, Aligning The
Length Of The [MDH1258] To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding The [MDH1258] Firmly In Place, Tighten
The Torque-Off Hex Nut Using An Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For Reference A

Minimum (20 ft.- Ibs.) Of Torque Is Required.
INSPECTION:

Check For Engagement Of Both [MDH1258] Chisel Point Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of
[MDH1258] Body Length With The Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex Nut Has Broken

Away From Threaded Barrel. Check For Proper Connection Of Attachments To The Badger [MDH1258].

t:or Proper Installation Flat
Surface Shall Face Down



~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLW3,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

A

3"
Deck Grooves

For Non Centered (TYP.)
Vertical Support ;

N
(TYP.) Tap Bolt To Be Steel Deck

Rod Calculate : :

Exposed At Top Of Groove
—¢ No-Drill™Hanger
| i (TYP)

Reduced N A
Maximum <~

NI N _
! Y il

a0 g '
Min. 4
(" EQ. EQ. @
Min. (3") Min.
Max. (24"
B L rvexe) 12 GA. 1-5/8"x1-5/8"

JTL tor Proper Installation Flat

ASTM A36 Or A307
Tap Bolt Or Threaded Rod With
Hex Nut, And Min. (3/16"x1-5/8")

Single Strut With (9/16") Round Holes, Or With
Max. (9/16"x1-1/8" x 2" o.c.) Slotted Back Openings.
Strut Length Can Be Installed Perpendicular Or

(7-1/2") . )
Steel Decking
Min. 20 GA.

(TYP.) ASTM A36 Or A307
Vertical Support Rod With Hex Nut,
Min. (3/16"x1-5/8") ASTM A36 Square
Strut Washer And B-Line BN200 Strut Nut.
For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.).
For 1/2" Rod Size Tighten Hex Nut (50 ft.« Ibs.).
For 5/8" Rod Size Tighten Hex Nut (50 ft.« Ibs.).
For 3/4" Rod Size Tighten Hex Nut (50 ft.« Ibs.).
Compression Loads May Require
Rod To Be Stiffened

ASTM A36 Square Strut Washer.
Tighten Snug Tight. Bolt / Threaded
Rod Shall Not Contact Steel

Skewed To Steel Deck Ribs/Flutes

BapGER INDUSTRIES
[MDH1258]
No-Drill™Hanger
Patent #9,850,659

Torque-Off Hex Nut (3/4"-10)

Threaded Shaft

~ BaDpGER INDUSTRIES ~
Detail (MDH1258-W3-DSF)

BapGeR INDUSTRIES
No-Drill™Hanger

(2") Wide Body With Chisel Point

Chisel Point End

Part # [MDH1258] VDL 128
Hole “A” = (1/2"-13) Maximum
Hole “B” = (5/8"-11) Capacity
Gravity (ASD) 600 Ibs.

R (AKX

!

Hole “B” Threaded Barrel
r Lock Washer—‘
I
|
T

E End

|
4:42

Gravity + Seismic (ASD) 1,200 Ibs.

Surface Shall Face Down

Gravity + Seismic (LRFD) | 1,680 Ibs.

Notice:

Minimum Between Spacing 3in
See Detail (BNDH-MBS) '

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking
Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel Decking Grooves To

Minimum Edge Distance 6 in.

Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or
Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Accurately Place
One End Of The Badger [MDH1258] Into One Steel Decking Groove, Aligning The Length Of
The [MDH1258] To Be Perpendicular To The Length Of The Steel Decking Grooves. While
Holding The [MDH1258] Firmly In Place, Tighten The Torque-Off Hex Nut Using An Open End
Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For
Reference A Minimum (20 ft.- Ibs.) Of Torque Is Required.

INSPECTION: Check For Engagement Of Both [MDH1258] Chisel Point Ends Into Steel Deck
Grooves. Check For Perpendicular Alignment Of [MDH1258] Body Length With The Length Of
The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex
Nut Has Broken Away From Threaded Barrel. Check For Proper Connection Of Attachments
To The Badger [MDH1258].

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH1258] Does Not Impact The Listed
[MDH1258] Capacities.

Snug Tight Shall Be The Tightness Required
To Bring The Connected Plies Into Firm
Contact, And That The Nuts Could Not Be
Removed Without The Use Of A Wrench.




~ INSTALLATION DETAIL ~

0720
- VERCO - W3 FORMLOK™ or PLWS3,
Decking Steel Decking With (f'c Min = 3,000 psi)
Min. Sand-Lightweight Or Normal Weight Concrete:
20 GA. / \
(1And 2 Of 4) Deck Grooves BabpGER INDUSTRIES
Badger Torque-Off
HexEHere:ldS%etgfo_llti v (TYP-) [N DH4S'W3]
Badger INDHAS-W3] % < (‘jf') No-Drill™Hanger

Patent Pending
(TYP.) ASTM A36 Or A307 ¢
Vertical Support Rod With

ay |

Min. (1/2") Thread Engagement Into e g % @
[NDH4S-W3]. Threaded Rod Contact £ w @ \ Ve I JU>
With Steel Decking Shall Not Exceed  (3/8") (1) g 2 O W, \) 53
Hand Tight. Vertical Support Rod (172" % %(3/8”_16) ey (112713) g g

Capacity May Control. Compression

Loads May Require Vertical Support (") |
Rod To Be Stiffened N Conn. View
~ BADGER INDUSTRIES ~
Detail (NDH4S-W3) Reduced Reduced Reduced
Between Spacing | Between Spacing | Between Spacing

Broaen INousTAIES [NDHA4S-W3] [NDH4S-W3] [NDH4S-W3] [NDH4S-W3]
No-Drill™Hanger Maximum Maximum Maximum Maximum
Part # [NDH4S-W3] Capacity Capacity Capacity Capacity
Gravity (ASD) 730 Ibs. 630 Ibs. 570 Ibs. 470 Ibs.
Gravity + Seismic (ASD) 1,460 Ibs. | 1,260 Ibs. | 1,140 Ibs. 940 Ibs.
Gravity + Seismic (LRFD) | 2,044 Ibs. | 1,764 Ibs. | 1,596 Ibs. | 1,316 Ibs.
Minimum Between Spacing . . : :
See Detail (BNDH-MBS) 16 In. 10 In. 6 In. 2'1/4 In.
Minimum Edge Distance 6in. 6in. 6 in. 6 in.
Listed Seismic Capacities Do Not Included Seismic Concrete Omega.
Seismic Concrete Omega Not Required For Gravity Only Usage.
For Gravity + Seismic Loadings, The Gravity Demand Shall No Exceed The Gravity Only Allowable Load.
Minimum Between Spacings Applies To [NDH4S-W3] Hangers Located Along The Same Decking Rib/Flute.
Proximity Or Spacing Of New Or Existing Cast-In-Place Inserts Or Drilled Hole Anchors To The [NDH4S-W3]
Does Not Impact The Listed [NDH4S-W3] Capacities.

INSTALLATION: Grooves Shall Be Located On The Adjacent Side Webs Of The Same Steel Decking Rib/Flute, And At The Same
Elevation As Each Other. Clean The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6")
Away From Dented Or Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Prior To Placement Of The Badger
[NDH4S-W3] Confirm That All (4) Of The Provided Badger Torque-Off Set Bolts Are Installed Into The Body Of The [NDH4S-W3] With Their
Pointed Ends Retracted So That They Are Not Exposed Beyond The Body Of The [NDH4S-W3]. Place The Badger [NDH4S-W3] Onto
The Underside Of An Individual Steel Decking Rib/Flute, Aligning The Length Of The [NDH4S-W3] To Be Perpendicular To The Length Of

Making Sure That The Pointed End Of Each Individual Set Bolt Is Engaged Into A Steel Decking Groove. While Holding The [NDH4S-W3]
In Place Continue Tightening The Set Bolts Equally And Alternately (Using A Box End Wrench) Until The Hex Head Breaks Away From
Each Of The (4) Set Bolts. For Reference A Minimum (10 ft.- Ibs.) Of Torque Is Required. Prior To Connection Of A Vertical Threaded Rod
Or Other ltem, Check To Confirm That The [NDH4S-W3] Is Properly Aligned With The Steel Decking, And That The Point End Of Each Of

The (4) Set Bolts Is Properly Engaged Into A Steel Decking Groove.

INSPECTION: Check That All (4) Badger Torque-Off Hex Head Set Bolts Have Been Tightened Until Hex Head Has Broken Away. Check
For Proper Connection Of Attachments To The Badger [NDH4S-W3].

The Steel Decking Grooves. Hand Tighten Equally And Alternately Each Of The (4) Retracted Badger Torque-Off Hex Head Set Bolts i



0720
VERCO - W3 FORMLOK ™ or PLW3,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

A

Deck Grooves

~ INSTALLATION DETAIL ~

Steel
Deck Grooves

( ) ( ) Decking
TYP. Vertical Support Rod TYP. Mi
\J Y n.
(4-1/2") (TYP) Can Be Located % @
‘ - Anywhere Between 20 GA
o\ \ s The NDH4S-W3] <, A &
I [ Hangers ] I [ T |
(1 And 2 Of 4) X {// %
Badger Torque-Off b - — — — — = - = — —m mm L e e e e e e = ——
Hex Head Set Bolts e s
(2) Each Side Of 4
Badger [NDH4S-W3], - .
(TYPx2) (1") Min. (10") / Max. (14" to 24")—>| (1")
Min. Min. J
12 GA. 1-5/8"x1-5/8"——=

(TYP.x2) (1/2"-13) ASTM A36
Or A307 Threaded Rod With Hex Nut And Min
(3/16"x1-5/8") ASTM A36 Square Strut Washer.
Threaded Rod Shall Have A Min. (1/2")
Engagement Into [NDH4S-W3]. Threaded Rod
Contact With Steel Decking Shall Not Exceed
Hand Tight. Tighten Hex Nut Snug Tight.

Vertical Support Rod
Capacity May Control.
Compression Loads—T
May Require Rod
To Be Stiffened

Strut Washer And B-Line BN200 Strut Nut.

(TYP.) ASTM A36 Or A307
Vertical Support Rod With Hex Nut,
Min. (3/16"x1-5/8") ASTM A36 Square

Single Strut With (9/16")
Round Holes, Or With Max.
(9/16"x1-1/8" x 2" 0.c.)

For 3/8" Rod Size Tighten Hex Nut (19 ft.- lbs.). Slotted Back Openings.
For 1/2" Rod Size Tighten Hex Nut (50 ft.- lbs.). Strut Length Can Be Installed
For 5/8" Rod Size Tighten Hex Nut (50 ft.- lbs.). Perpendicular Or Skewed To
For 3/4" Rod Size Tighten Hex Nut (50 ft. Ibs.). Steel Deck Ribs/Flutes

BADGER INDUSTRIES
[NDH4S-W3]
No-Drill™Hanger

Patent Pending
¢

(") (1"
(N ()

(1/2"-13)

N
v

(3/8"16)

(2-1/4")

BADGER

NDH4S-W3
d3vavdg

(5/8"11)

EM-SYHAN

Conn. View

T T e ]
Notice:

INSTALLATION: Grooves Shall Be Located On The Adjacent Side Webs Of The
Same Steel Decking Rib/Flute, And At The Same Elevation As Each Other. Clean
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue.
Stay A Minimum (6") Away From Dented Or Damaged Steel Decking Grooves,
Decking Edges, Openings And Closures. Prior To Placement Of The Badger
[NDH4S-W3] Confirm That All (4) Of The Provided Badger Torque-Off Set Bolts Are
Installed Into The Body Of The [NDH4S-W3] With Their Pointed Ends Retracted So
That They Are Not Exposed Beyond The Body Of The [NDH4S-W3]. Place The
Badger [NDH4S-W3] Onto The Underside Of An Individual Steel Decking Rib/Flute,
Aligning The Length Of The [NDH4S-W3] To Be Perpendicular To The Length Of
The Steel Decking Grooves. Hand Tighten Equally And Alternately Each Of The
(4) Retracted Badger Torque-Off Hex Head Set Bolts Making Sure That The Pointed
End Of Each Individual Set Bolt Is Engaged Into A Steel Decking Groove. While
Holding The [NDH4S-W3] In Place Continue Tightening The Set Bolts Equally And
Alternately (Using A Box End Wrench) Until The Hex Head Breaks Away From Each
Of The (4) Set Bolts. For Reference A Minimum (10 ft.- Ibs.) Of Torque Is Required.
Prior To Connection Of A Vertical Threaded Rod Or Other Item, Check To Confirm
That The [NDH4S-W3] Is Properly Aligned With The Steel Decking, And That The
Point End Of Each Of The (4) Set Bolts Is Properly Engaged Into A Steel Decking
Groove.

INSPECTION: Check That All (4) Badger Torque-Off Hex Head Set Bolts Have
Been Tightened Until Hex Head Has Broken Away. Check For Proper Connection
Of Attachments To The Badger [NDH4S-Wa3].

~ BaDGER INDUSTRIES ~
Detail (NDH4S-W3-DAF)

Maximum Maximum
Span (24") Span (14")
BADGE.R TI,:‘ PUSTRIES Vertical Hanger | Vertical Hanger
No-Drill™Hanger Maximum Maximum
Part # [NDH4S-W3] Capacity Capacity
Gravity (ASD) 728 Ibs. | 728 Ibs.
Gravity + Seismic (ASD) 760 Ibs. | 1,300 Ibs.
Gravity + Seismic (LRFD) | 1,064 Ibs. | 1,820 Ibs.
Minimum Between Spacing 16in
See Detail (BNDH-MBS) .
Minimum Edge Distance 6 in.

Listed Seismic Capacities Do Not Included Seismic Concrete
Omega.

Seismic Concrete Omega Not Required For Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity Demand Shall No
Exceed The Gravity Only Allowable Load.

Minimum Between Spacings Applies To [NDH4S-W3] Hangers
Located Along The Same Decking Rib/Flute. Proximity Or
Spacing Of New Or Existing Cast-In-Place Inserts Or Drilled Hole
Anchors To The [NDH4S-W3] Does Not Impact The Listed
[NDH4S-W3] Capacities.

Snug Tight Shall Be The Tightness Required To Bring The
Connected Plies Into Firm Contact, And That The Nuts Could
Not Be Removed Without The Use Of A Wrench.




~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLW3,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

Vertical Support Rod
Can Be Located Anywhere
Between The [NDH4S-W3]

Deck Grooves

N A
Steel Decking \

Hangers (TYP) Min. 20 GA——
© © © © > | (@-1/2") (3 And 4 Of 4) Badger
D A Torque-Off Hex Head Set
,,,,,,,,,,,,,,,,,,,, % ! Bolts. (2) Each Side Of
I I Badger [NDH4S-W3],
= (TYP.x2)
_________ JL QJJ é (TYPx2) (1/2"-13) ASTM A36 Or A307 Threaded Rod
‘_@? ' 4 With Hex Nut And Min. (3/16"x1-5/8") ASTM A36
Square Strut Washer. Threaded Rod Shall Have A Min.
RE) (1/2") Engagement Into [NDH4S-W3]. Threaded Rod
Min. Contact With Steel Decking Shall Not Exceed Hand
4 12 GA. 1-5/8"x1-5/8" Tight. Tighten Hex Nut Snug Tight
Single Strut With (9/16") Round Holes, .
Or Max. (9/16"1-1/8" x 2" 0.c.) Slotted Back = -\ (TYP.) ASTM A36 Or A307 Vertical Support
Openi Rod With Hex Nut, Min. (3/16"x1-5/8") ASTM A36
- penings. Strut Length Can Be Installed .
—> Min. (2-1/4") / Max. (14" to 24") |<— Parallel Or Skewed To Steel Deck Rib/Flute Square Strut Washer And B-Line BN200 Strut Nut.

~ BADGER INDUSTRIES ~
Detail (NDH4S-W3-DSF)

For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.)
For 1/2" Rod Size Tighten Hex Nut (50 ft.« Ibs.)
For 5/8" Rod Size Tighten Hex Nut (50 ft.« Ibs.)
For 3/4" Rod Size Tighten Hex Nut (50 ft.« Ibs.)
Vertical Support Rod Capacity May Control.
Compression Loads May Require Rod To

Be Stiffened

Maximum Maximum
BADGER INDUSTRIES Span (24") Span (14") BADGER INDUSTRIES
- Vertical Hanger | Vertical Hanger
No-Dril ™Hanger Maximum Maximum [NDH4S-W3]
Part # [NDH4S-W3] Capacity Capacity No-Drill ™ Hanger
Gravity (ASD) 728 Ibs. 728 Ibs. R Patent Eending
Gravity + Seismic (ASD) 760 Ibs. | 1,300 Ibs. I .
o
; >
Gravity + Seismic (LRFD) | 1,064 Ibs. | 1,820 Ibs.| e 820 ()0 38
. ] S D1 g (11213) =T
Minimum Between Spacing 16 in z @
See Detail (BNDH-MBS) - . —
Minimum Edge Distance 6in. |-———————.. 1
Notice:

Listed Seismic Capacities Do Not Included Seismic Concrete
Omega.

Seismic Concrete Omega Not Required For Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity Demand Shall No
Exceed The Gravity Only Allowable Load.

Minimum Between Spacings Applies To [NDH4S-W3] Hangers
Located Along The Same Decking Rib/Flute. Proximity Or
Spacing Of New Or Existing Cast-In-Place Inserts Or Drilled Hole
Anchors To The [NDH4S-W3] Does Not Impact The Listed
[NDH4S-W3] Capacities.

Snug Tight Shall Be The Tightness Required To Bring The
Connected Plies Into Firm Contact, And That The Nuts Could
Not Be Removed Without The Use Of A Wrench.

INSTALLATION: Grooves Shall Be Located On The Adjacent Side Webs Of The

Same Steel Decking Rib/Flute, And At The Same Elevation As Each Other. Clean |
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. !
Stay A Minimum (6") Away From Dented Or Damaged Steel Decking Grooves,

Decking Edges, Openings And Closures. Prior To Placement Of The Badger |
[NDH4S-W3] Confirm That All (4) Of The Provided Badger Torque-Off Set Bolts Are
Installed Into The Body Of The [NDH4S-W3] With Their Pointed Ends Retracted So
That They Are Not Exposed Beyond The Body Of The [NDH4S-Wa3]. Place The |
Badger [NDH4S-W3] Onto The Underside Of An Individual Steel Decking Rib/Flute, .
Aligning The Length Of The [NDH4S-W3] To Be Perpendicular To The Length Of !
The Steel Decking Grooves. Hand Tighten Equally And Alternately Each Of The |
(4) Retracted Badger Torque-Off Hex Head Set Bolts Making Sure That The Pointed ,
End Of Each Individual Set Bolt Is Engaged Into A Steel Decking Groove. While *
Holding The [NDH4S-W3] In Place Continue Tightening The Set Bolts Equally And |
Alternately (Using A Box End Wrench) Until The Hex Head Breaks Away From Each |
Of The (4) Set Bolts. For Reference A Minimum (10 ft.- Ibs.) Of Torque Is Required.
Prior To Connection Of A Vertical Threaded Rod Or Other ltem, Check To Confirm |
That The [NDH4S-W3] Is Properly Aligned With The Steel Decking, And That The

Point End Of Each Of The (4) Set Bolts Is Properly Engaged Into A Steel Decking
Groove. |

INSPECTION: Check That All (4) Badger Torque-Off Hex Head Set Bolts Have
Been Tightened Until Hex Head Has Broken Away. Check For Proper Connection
Of Attachments To The Badger [NDH4S-Wa3].



~ INSTALLATION DETAIL ~

0720

VERCO - W3 FORMLOK ™ or PLWS3,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

Vertical Support Rod
Centered Between Threaded

Steel
Rods Used To Connect Strut

Deck Grooves

Deck Grooves

Span Member To [NDH4S-W3] Decking
(TYP.) Y Hangers. For Non Centered ﬁ(TYF’.)ﬁ Min.
4-1/2" (TYP @ Vertical Support Rod @
l< ( ) (TYP) > Calculate Reduced 20 GA.
% - p o @ Maximum —— . @
I I 0 [ I ]
o B
(1And2
Badger Torque-Off //
Hex Head Set Bolts
(2) Each sideot [ - Jé@i
Badger [NDH4S-W3], hg [
(TYPx2) % ‘_%?
E.Q. E.Q.
(1") < Min. (10") / Max. (18")———>| (1")
Min. Min.
12 GA. 3-1/4"x1-5/8"——

(TYP.x2) (1/2"-13) ASTM A36
Or A307 Threaded Rod With Hex Nut And Min.
(3/16"x1-5/8") ASTM A36 Square Strut Washer.
Threaded Rod Shall Have A Min. (1/2")
Engagement Into [NDH4S-W3]. Threaded Rod
Contact With Steel Decking Shall Not Exceed
Hand Tight. Tighten Hex Nut Snug Tight

Vertical Support Rod
Capacity May Control.
Compression Loads—T
May Require Rod
To Be Stiffened

Min. (3/16"x1-5/8") ASTM A36 Square
Strut Washer And B-Line BN200 Strut Nut.

(TYP.) ASTM A36 Or A307

Vertical Support Rod With Hex Nut, ~Mfg. Spot Welded Double Strut

With (9/16") Round Holes, Or
With Max. (9/16"x1-1/8" x 2" o.c.)

For 3/8" Rod Size Tighten Hex Nut (19 ft.- los.). Slotted Back Openings. Strut Length
For 1/2" Rod Size Tighten Hex Nut (50 ft.- Ios.). ~Can Be Installed Perpendicular Or
For 5/8" Rod Size Tighten Hex Nut (50 ft.- Ibs.). Skewed To Steel Deck Ribs/Flutes
For 3/4" Rod Size Tighten Hex Nut (50 ft.« Ibs.).

BADGER INDUSTRIES
[NDH4S-W3]

No-Drill™Hanger
Patent Pending
¢

) (1" (") =
m= o
) 6h N (T (M £5
o U o
o %(3/8“»16) a1y (1/2-13) g ]
N Conn. View
Notice

| INSTALLATION: Grooves Shall Be Located On The Adjacent Side Webs Of The
+ Same Steel Decking Rib/Flute, And At The Same Elevation As Each Other. Clean
' The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue.
| Stay A Minimum (6") Away From Dented Or Damaged Steel Decking Grooves,
. Decking Edges, Openings And Closures. Prior To Placement Of The Badger
1 [NDH4S-W3] Confirm That All (4) Of The Provided Badger Torque-Off Set Bolts Are
| Installed Into The Body Of The [NDH4S-W3] With Their Pointed Ends Retracted So
. That They Are Not Exposed Beyond The Body Of The [NDH4S-W3]. Place The
+ Badger [NDH4S-W3] Onto The Underside Of An Individual Steel Decking Rib/Flute,
| Aligning The Length Of The [NDH4S-W3] To Be Perpendicular To The Length Of

The Steel Decking Grooves. Hand Tighten Equally And Alternately Each Of The
i (4) Retracted Badger Torque-Off Hex Head Set Bolts Making Sure That The Pointed
| End Of Each Individual Set Bolt Is Engaged Into A Steel Decking Groove. While

Holding The [NDH4S-W3] In Place Continue Tightening The Set Bolts Equally And
1 Alternately (Using A Box End Wrench) Until The Hex Head Breaks Away From Each

Of The (4) Set Bolts. For Reference A Minimum (10 ft.- Ibs.) Of Torque Is Required.
| Prior To Connection Of A Vertical Threaded Rod Or Other Item, Check To Confirm
 That The [NDH4S-W3] Is Properly Aligned With The Steel Decking, And That The
| goint End Of Each Of The (4) Set Bolts Is Properly Engaged Into A Steel Decking

roove.

INSPECTION: Check That All (4) Badger Torque-Off Hex Head Set Bolts Have
Been Tightened Until Hex Head Has Broken Away. Check For Proper Connection
Of Attachments To The Badger [NDH4S-Wa3].

~ BADGER INDUSTRIES ~
Detail (NDH4S-W3-DAFDS)

BapGer INDUSTRIES
No-Drill™Hanger
Part # [NDH4S-W3]

Centered
Vertical Hanger
Maximum Capacity

Gravity (ASD) 1,445 |bs.
Gravity + Seismic (ASD) 2,845 Ibs.
Gravity + Seismic (LRFD) 3,985 Ibs.
Minimum Between Spacing 16 in.

See Detail (BNDH-MBS)

6in.

Minimum Edge Distance

Listed Seismic Capacities Do Not Included Seismic Concrete
Omega.

Seismic Concrete Omega Not Required For Gravity Only
Usage.

For Gravity + Seismic Loadings, The Gravity Demand Shall No
Exceed The Gravity Only Allowable Load.

Minimum Between Spacings Applies To [NDH4S-W3] Hangers
Located Along The Same Decking Rib/Flute. Proximity Or
Spacing Of New Or Existing Cast-In-Place Inserts Or Drilled
Hole Anchors To The [NDH4S-W3] Does Not Impact The Listed
[NDH4S-W3] Capacities.

Snug Tight Shall Be The Tightness Required To Bring The
Connected Plies Into Firm Contact, And That The Nuts Could
Not Be Removed Without The Use Of A Wrench.




~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLWS,

Vertical Support Rod Centered
Between Threaded Rods Used To
Connect Strut Span Member To
[NDH4S-W3] Hangers. For Non
Centered Vertical Support Rod
Calculate Reduced Maximum
Capacity—

Deck Grooves

Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

N A
Steel Decking \
Min. 20 GA——

v (TYP)———,
© © © © > | (@-1/2") (3 And 4 Of 4) Badger
L N v Torque-Off Hex Head Set
,,,,,,,,,,,,,,,,,,,, % ! Bolts. (2) Each Side Of
I I 0l Badger [NDH4S-W3],
__________________ e — (TYP.x2)
\\ (TYP.x2) (1/2"-13) ASTM A36 Or A307 Threaded Rod
— With Hex Nut And Min. (3/16"x1-5/8") ASTM A36
- \\ Square Strut Washer. Threaded Rod Shall Have A Min.
————————————————— — S (1/2") Engagement Into [NDH4S-W3]. Threaded Rod
'_EQ_' '_CEQ_' 4 Contact With Steel Decking Shall Not Exceed Hand
m m Tight. Tighten Hex Nut Snug Tight
fw,i_ ﬁm,i (TYP.) ASTM A36 Or A307 Vertical Support
T=——12 GA. 3-1/4"x1-5/8" Rod With Hex Nut, Min. (3/16"x1-5/8") ASTM A36
Mfg. Spot Welded Double Strut Square Strut Washer And B-Line BN200 Strut Nut.
E.Q. E.Q. With (9/16") Round Holes, Or With For 3/8" Rod Size Tighten Hex Nut (19 ft.« Ibs.).
K Max. (9/16"x1-1/8" x 2" o.c.) Slotted For 1/2" Rod Size Tighten Hex Nut (50 ft.« Ibs.).
Min. (10) / Max. (18")— > Back Openings. Strut Length Can Be For 5/8" Rod Size Tighten Hex Nut :50 ft.- Ibs.).

~ BaDGER INDUSTRIES ~
Detail (NDH4S-W3-DSFDS)

BapGer INDUSTRIES

No-Drill™Hanger Verﬁ?gfﬂaeﬁger
Part # [NDH4S-W3] Maximum Capacity
Gravity (ASD) 1,445 Ibs.
Gravity + Seismic (ASD) 2,845 Ibs.
Gravity + Seismic (LRFD) 3,985 Ibs.
Minimum Between Spacing 16 in

See Detail (BNDH-MBS) .
Minimum Edge Distance 6 in.

Listed Seismic Capacities Do Not Included Seismic Concrete
Omega.

Seismic Concrete Omega Not Required For Gravity Only
Usage.

For Gravity + Seismic Loadings, The Gravity Demand Shall No
Exceed The Gravity Only Allowable Load.

Minimum Between Spacings Applies To [NDH4S-W3] Hangers
Located Along The Same Decking Rib/Flute. Proximity Or
Spacing Of New Or Existing Cast-In-Place Inserts Or Drilled
Hole Anchors To The [NDH4S-W3] Does Not Impact The Listed
[NDH4S-W3] Capacities.

Snug Tight Shall Be The Tightness Required To Bring The
Connected Plies Into Firm Contact, And That The Nuts Could
Not Be Removed Without The Use Of A Wrench.

Installed Perpendicular Or Skewed To
Steel Deck Ribs/Flutes

For 3/4" Rod Size Tighten Hex Nut (50 ft.« Ibs.).
Vertical Support Rod Capacity May Control.
Compression Loads May Require Rod To

Be Stiffened

BADGER INDUSTRIES
[NDH4S-W3]

No-Drill™Hanger
Patent Pending
¢

o LM ] -
= o

(2-1/4") (\/') N ﬂ( \ O » 8
E(a/:ﬁs) (1/2"-13) 2 o
= (5/8"-11) S my)

Conn. View

T T e ]
Notice:

INSTALLATION: Grooves Shall Be Located On The Adjacent Side Webs Of The
Same Steel Decking Rib/Flute, And At The Same Elevation As Each Other. Clean
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue.
Stay A Minimum (6") Away From Dented Or Damaged Steel Decking Grooves,
Decking Edges, Openings And Closures. Prior To Placement Of The Badger
[NDH4S-W3] Confirm That All (4) Of The Provided Badger Torque-Off Set Bolts Are
Installed Into The Body Of The [NDH4S-W3] With Their Pointed Ends Retracted So
That They Are Not Exposed Beyond The Body Of The [NDH4S-W3]. Place The
Badger [NDH4S-W3] Onto The Underside Of An Individual Steel Decking Rib/Flute,
Aligning The Length Of The [NDH4S-W3] To Be Perpendicular To The Length Of
The Steel Decking Grooves. Hand Tighten Equally And Alternately Each Of The
(4) Retracted Badger Torque-Off Hex Head Set Bolts Making Sure That The Pointed
End Of Each Individual Set Bolt Is Engaged Into A Steel Decking Groove. While
Holding The [NDH4S-W3] In Place Continue Tightening The Set Bolts Equally And
Alternately (Using A Box End Wrench) Until The Hex Head Breaks Away From Each
Of The (4) Set Bolts. For Reference A Minimum (10 ft.- Ibs.) Of Torque Is Required.
Prior To Connection Of A Vertical Threaded Rod Or Other Item, Check To Confirm
That The [NDH4S-W3] Is Properly Aligned With The Steel Decking, And That The
goint End Of Each Of The (4) Set Bolts Is Properly Engaged Into A Steel Decking
roove.

INSPECTION: Check That All (4) Badger Torque-Off Hex Head Set Bolts Have
Been Tightened Until Hex Head Has Broken Away. Check For Proper Connection
Of Attachments To The Badger [NDH4S-Wa3].



~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLW3,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

Deck Grooves |

v (TYP) —

(4-1/2") ‘

(1 And 2 Of 4) Badger
Torque-Off Hex Head Set
Bolts (2) Each Side Of
Badger [NDH4S-W3],

(TYP.) %
>

Badger Industries
[SSC]
Seismic Hardware
With Pivot Arm

(No Substitution)

&
&

With Round Washer And

ASTM A36 Or A307
1(1/ "-13) Threaded Rod
Hex Nut. Threaded Rod

I E Contact With Steel Decking
| & Shall Not Exceed Hand Tight.
| L Tighten Hex Nut Snug Tight
Horizontal
Per Chart

B

Badger Industries

NUSIG [SB1258] —
Seismic Hardware
With Pivot Arm

(No Substitution)

ASTM A36 Or A307
(1/2"-13) Threaded Rod
With Round Washer And
Hex Nut. Threaded Rod

Contact With Steel Decking

8 Shall Not Exceed Hand Tight.
) 5] Tighten Hex Nut Snug Tight
Horizontal =
<
Per Chart Angle
30° To 60°
(+/-) (2.5%
Notice:

INSTALLATION: Grooves Shall Be Located On The Adjacent Side Webs Of The Same
Steel Decking Rib/Flute, And At The Same Elevation As Each Other. Clean The Steel
Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum
(6") Away From Dented Or Damaged Steel Decking Grooves, Decking Edges, Openings
And Closures. Prior To Placement Of The Badger [NDH4S-W3] Confirm That All (4) Of
The Provided Badger Torque-Off Set Bolts Are Installed Into The Body Of The
[NDH4S-W3] With Their Pointed Ends Retracted So That They Are Not Exposed Beyond
The Body Of The [NDH4S-W3]. Place The Badger [NDH4S-W3] Onto The Underside Of
An Individual Steel Decking Rib/Flute, Aligning The Length Of The [NDH4S-W3] To Be
Perpendicular To The Length Of The Steel Decking Grooves. Hand Tighten Equally And
Alternately Each Of The (4) Retracted Badger Torque-Off Hex Head Set Bolts Making Sure
That The Pointed End Of Each Individual Set Bolt Is Engaged Into A Steel Decking Groove.
While Holding The [NDH4S-W3] In Place Continue Tightening The Set Bolts Equally And
Alternately (Using A Box End Wrench) Until The Hex Head Breaks Away From Each Of
The (4) Set Bolts. For Reference A Minimum (10 ft.+ Ibs.) Of Torque Is Required. Prior To
Connection Of Seismic Hardware, Check To Confirm That The [NDH4S-W3] Is Properly
Aligned With The Steel Decking, And That The Point End Of Each Of The (4) Set Bolts Is
Properly Engaged Into A Steel Decking Groove.

INSPECTION: Check That All (4) Badger Torque-Off Hex Head Set Bolts Have Been
Tightened Until Hex Head Has Broken Away. Check For Proper Connection Of Attachments
To The Badger [NDH4S-W3].

Steel Decking

N\ \
Min. 20 GA——

(2-1/4")

BADGER INDUSTRIES
[NDH4S-W3]

No-Drill™Hanger
Patent Pending
¢

(") ")

f\o

(1/2"-13)

d43oavd

N
U
01

EM-SYHAN

6) (s/8"11)

Conn. View

~ BADGER |NDUSTRIES ~
Detail (RSB-NDH4S-W3)

BabGeRr INDUSTRIES Brace Angle
No-Drill™Hanger Sﬁa)g?nfn?
Part # [NDH4S-W3] Horizontal
Seismic Brace (ASD) 913 Ibs.
Seismic Brace (LRFD) 1,278 Ibs.
Minimum Between Spacing :

See Detail (BNDH-MBS) 24 in.
Minimum Edge Distance 121n.

Listed Seismic Capacities Do Not Included Seismic
Concrete Omega.

Minimum Between Spacings Applies To [NDH4S-W3]
Hangers Located Along The Same Decking Rib/Flute.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors To The
[NDH4S-W3] Does Not Impact The Listed
[NDH4S-W3] Capacities.

For Between Spacings Of Less Than (24"), The
Combined Design Demand Of Multiple [NDH4S-W3]
Hangers Shall Not Exceed The Capacity Of A Single
[NDH4S-W3].

Depicted Seismic Brace Assemblies Can Be Rotated
In Plan 360° About Their Conn. To The [NDH4S-Wa3].

Snug Tight Shall Be The Tightness Required To Bring
The Connected Plies Into Firm Contact, And That
The Nuts Could Not Be Removed Without The Use
Of A Wrench.




0720

~ INSTALLATION DETAIL ~

VERCO - W3 FORMLOK™ or PLWS3,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

N A
Steel Decking \
Min. 20 GA——

(1And 2O Of 4) BadgerS Deck Grooves
Torque-Off Hex Head Set
Bolts (2) Each Side Of (TYP-)
Badger [NDH4S-W3] (@-1/2"
l<
% N

BADGER INDUSTRIES

[NDH4S-W3]

Badger Industries
[SWB]———< /
Seismic Hardware

With Badger Y (1/2"-13) Threaded Rod
Cable Bracing ¢ Brace Angle [ With Round Washer And ® (1" (1") >
(No Substitution) 30°To60° |  Hex Nut. Threaded Rod o= S
(+/-) (2.5°) Contact With Steel o G D M f’\ Id
|< ‘ (2-1/4") 8~ &3
. ) Decking Shall Not < I " m
Horizontal |5 Exceed Hand Tight. @ SEEM18) (ggnyy) (112+19) g by
Per Chart |E Tighten Hex Nut

Snug Tight

~ BaDGER INDUSTRIES ~
Detail (CSB-NDH4S-W3)

BabpGER INDUSTRIES Brace Angle
No-Drill™Hanger 30" o 60
Part # [NDH4S-W3] Horizontal
Seismic Brace (ASD) 913 Ibs.
Seismic Brace (LRFD) 1,278 Ibs.
Minimum Between Spacing :

See Detail (BNDH-MBS) 24 in.
Minimum Edge Distance 12 in.

Listed Seismic Capacities Do Not Included Seismic
Concrete Omega.

Minimum Between Spacings Applies To [NDH4S-W3]
Hangers Located Along The Same Decking Rib/Flute.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors To The
[NDH4S-W3] Does Not Impact The Listed
[NDH4S-W3] Capacities.

For Between Spacings Of Less Than (24"), The
Combined Design Demand Of Multiple [NDH4S-W3]
Hangers Shall Not Exceed The Capacity Of A Single
[NDH4S-W3].

Depicted Seismic Brace Assemblies Can Be Rotated
In Plan 360° About Their Conn. To The [NDH4S-W3].

Snug Tight Shall Be The Tightness Required To Bring
The Connected Plies Into Firm Contact, And That
The Nuts Could Not Be Removed Without The Use
Of A Wrench.

ASTM A36 Or A307 N

No-Drill™Hanger

Patent Pending
¢

Conn. View

INSTALLATION: Grooves Shall Be Located On The Adjacent

Side Webs Of The Same Steel Decking Rib/Flute, And At The |
Same Elevation As Each Other. Clean The Steel Decking !
Grooves To Remove Concrete And/Or Fire Proofing Residue.

Stay A Minimum (6") Away From Dented Or Damaged Steel |
Decking Grooves, Decking Edges, Openings And Closures.
Prior To Placement Of The Badger [NDH4S-W3] Confirm That |
All (4) Of The Provided Badger Torque-Off Set Bolts Are |
Installed Into The Body Of The [NDH4S-W3] With Their .
Pointed Ends Retracted So That They Are Not Exposed |
Beyond The Body Of The [NDH4S-W3]. Place The Badger |
[NDH4S-W3] Onto The Underside Of An Individual Steel ,
Decking Rib/Flute, Aligning The Length Of The [NDH4S-W3] *
To Be Perpendicular To The Length Of The Steel Decking |
Grooves. Hand Tighten Equally And Alternately Each Of The |
(4) Retracted Badger Torque-Off Hex Head Set Bolts Making s
Sure That The Pointed End Of Each Individual Set Bolt Is |
Engaged Into A Steel Decking Groove. While Holding The

[NDH4S-W3] In Place Continue Tightening The Set Bolts
Equally And Alternately (Using A Box End Wrench) Until The |
Hex Head Breaks Away From Each Of The (4) Set Bolts. For

Reference A Minimum (10 ft.+ Ibs.) Of Torque Is Required. ;
Prior To Connection Of Seismic Hardware, Check To Confirm

That The [NDH4S-Wa3] Is Properly Aligned With The Steel |
Decking, And That The Point End Of Each Of The (4) Set !
Bolts Is Properly Engaged Into A Steel Decking Groove. |

INSPECTION: Check That All (4) Badger Torque-Off Hex
Head Set Bolts Have Been Tightened Until Hex Head Has
Broken Away. Check For Proper Connection Of Attachments
To The Badger [NDH4S-Wa3].




0720

VERCO - W3 FORMLOK™ or PLWS,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

Deck Grooves

Centered On Plate Width
And Centered Between
Threaded Rods Used To

~ INSTALLATION DETAIL ~

Steel

Deck Grooves

Connect Plate to [NDH4S-W3] Decking
(TYP_) Hangers. For Non Centered (TYP_) Min
. i Placements Calculate .
% l< (4-1/2") (TYP) > Reduced Maximum % @ 20 GA.
% M Capacity ;, % M @
[ [ 0l fiad I [ ]
(1 And 2 Of 4) |
Badger Torque-Off —
Hex Head Set Bolts (TYP) = Badger /SSC k=3 Min. (15"x6"%5/8"
2) Each Side Of (1-1/2") in. (15"x6"x5/8")
(B dger [NDH4S-W3] : EQ. } E.Q ASTM A36 Steel Plate
(TE‘YSiz) ’ Min. e (12) With (3)-(9/16") Diameter
' , 71 Through Holes For (1/2")
—ASTM A36 Or A307 (1/2"-13) Threaded Diameter Threaded Rods
(TYE"XZ) ASTM A36 OrASQ7 / I Rod With Lower Round Washer And Hex
(1/2"-13) Threaded Rod With . /B | Nut, And With Upper Hex Nut And Lock
Hex Nut And Lock Washer, Horizontal race Washer. Installed Through A (9/16")
Centered On Plate Width And Angle | : : 9 '
. Per Chart 30° To 60° Diameter Hole In Steel Plate. Tighten
Installed Through (9/16") Diameter o " Hex Nut Snug Tight
Hole In Steel Plate. Threaded Rod (+7-) (2.5
Shall Have A Min. (1/2") Engagement Badger Industries [SSC], [SWB] Or NUSIG [SB1258]
Into [NDH4S-W3]. Threaded Rod Contact Seismic Hardware With Rigid Or Cable Bracing (No Substitution).
With Steel Decking Shall Not Exceed Hand Can Be Rotated In Plan 360° About It’s Conn. To Steel Plate
Tight. Tighten Hex Nut Snug Tight
BApGeR INDUSTRIES
~ BADGER INDUSTRIES ~ [NDH4S-W3]
. _Drill ™
Detail (SB-NDH4S-W3-DAF) No-Drill™Hanger
Patent Pending
BAbGER INDUSTRIES Brace Angle Y= ¢
- 30° to 60
No-Drill™Hanger Maximum . an Ay >
Part # [NDH4S-W3] Horizontal = Sg
(2-1/4") c@ () f \ O &5 8
ismi I '
Seismic Brace (ASD) 1,826 Ibs. Sowto ey 0700 5 B
Seismic Brace (LRFD) 2,556 Ibs. J —
Minimum Between Spacing 24 in
See Detail (BNDH-MBS) Notice
iemi 1 INSTALLATION: Grooves Shall Be Located On The Adjacent Side Webs Of The Same Steel
Seismic Brace (LRFD) 1 2 In. Decking Rib/Flute, And At The Same Elevation As Each Other. Clean The Steel Decking

Listed Seismic Capacities Do Not Included Seismic
Concrete Omega.

Minimum Between Spacings Applies To [NDH4S-W3]
Hangers Located Along The Same Decking Rib/Flute.

Proximity Or Spacing Of New Or Existing Cast-In-Place
Inserts Or Drilled Hole Anchors To The [NDH4S-W3]
Does Not Impact The Listed [NDH4S-W3] Capacities.

Depicted Seismic Brace Assemblies Can Be Rotated
In Plan 360° About Their Conn. To The [NDH4S-W3].

Snug Tight Shall Be The Tightness Required To Bring
The Connected Plies Into Firm Contact, And That The
Nuts Could Not Be Removed Without The Use Of A
Wrench.

Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away
From Dented Or Damaged Steel Decking Grooves, Decking Edges, Openings And Closures.
Prior To Placement Of The Badger [NDH4S-W3] Confirm That All (4) Of The Provided Badger
Torque-Off Set Bolts Are Installed Into The Body Of The [NDH4S-W3] With Their Pointed
Ends Retracted So That They Are Not Exposed Beyond The Body Of The [NDH4S-W3].
Place The Badger [NDH4S-W3] Onto The Underside Of An Individual Steel Decking Rib/Flute,
Aligning The Length Of The [NDH4S-W3] To Be Perpendicular To The Length Of The Steel
Decking Grooves. Hand Tighten Equally And Alternately Each Of The (4) Retracted Badger
Torque-Off Hex Head Set Bolts Making Sure That The Pointed End Of Each Individual Set
Bolt Is Engaged Into A Steel Decking Groove. While Holding The [NDH4S-W3] In Place
Continue Tightening The Set Bolts Equally And Alternately (Using A Box End Wrench) Until
The Hex Head Breaks Away From Each Of The (4) Set Bolts. For Reference A Minimum
(10 ft.« Ibs.) Of Torque Is Required. Prior To Connection Of A Vertical Threaded Rod Or Other
Item, Check To Confirm That The [NDH4S-W3] Is Properly Aligned With The Steel Decking,
And That The Point End Of Each Of The (4) Set Bolts Is Properly Engaged Into A Steel
Decking Groove.

INSPECTION:  Check That All (4) Badger Torque-Off Hex Head Set Bolts Have Been
Tightened Until Hex Head Has Broken Away. Check For Proper Connection Of Attachments
To The Badger [NDH4S-Wa3].



For VERCO W2 Decking
Using No-Drill™Hanger

Part No. MDH3812

VERCO DECKING, INC.
a NI QOR company

PLW2™or W2 FORMLOK™

= 2" Deep Deck
= Galvanized or Phosphatized/Painted
= VERCO DECKING, INC. www.vercodeck.com

Dimensions

i

|4 36"



~ INSTALLATION DETAIL ~

VERCO - W2 FORMLOK™ or PLWZ2,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

N N
Steel Deck 90° Angle Clip Deck Grooves 45° Angle Clip Steel Deck
Groove Vertical Hanger (TYP) Seismic Brace Groove
(TYP.) — v (TYP.)
T ‘ /\
D) () (TYP) > A

Steel Decking Body
Min. 20 GA—— Wedge
End View
(12 GA. 1"x1") (12 GA. 1"x1")
90° Angle Clip With 45° Angle Clip With
(12 GA.) ASTM A641 (12 GA.) ASTM A641

Hanger Wire, Tied
With Not Less Than
(4 Tight Turns) In
(1-1/2") Inches

/| e

0° To 15°

Vertical

Maximum Secure Angle Clip To The [MDH3812] With A (3/8"-16 x Min.1-1/2") Bolt,
Capacity Tightened To Secure Angle Clip Flat-To-Flat With [MDH3812]. Angle Clip /
Per Chart With Wire Can Be Rotated In Plan 360° About It's Conn. To The [MDH3812]. &\)‘Q\\

~ BaDGER INDUSTRIES ~
Detail (MDH3812-W2CW)

BapGer INDUSTRIES
No-Drill™Hanger

Part # [MDH3812] MDH3812]
Hole “A” = (1/2"-13) Maxirmum
Hole “B” = (3/8"-16) Capacity

90° Angle Clip Vertical Hanger (ASD) | 175 Ibs.

45° Angle Clip Seismic Brace (ASD) | 175 Ibs.

45° Angle Clip Seismic Brace (LRFD) | 245 |bs.

Minimum Between Spacing 2in
See Detail (BNDH-MBS) .

Minimum Edge Distance 6 in.

Listed Capacities Controlled By Failure Of Identified
12 GA. Wire, Not By Concrete Failure. Thus Seismic
Concrete Omega Not Required. Use Of Stronger Wire
Or Alternate Materials (ie; Aircraft Cable) Will Require
Seismic Concrete Omega To Be Included When
Determining Seismic Design Demand.

Depicted Angle Clip Assemblies Can Be Rotated In
Plan 360° About Their Conn. To The [MDH3812].

Proximity Or Spacing Of New Or Existing Cast-In-Place
Inserts Or Drilled Hole Anchors To The [MDH3812]
Does Not Impact The Listed [MDH3812] Capacities.

—

Hanger Wire, Tied
With Not Less Than
(4 Tight Turns) In
(1-1/2") Inches

Brace
Angle 45°
(+/-)15°
30° To 60°

Vertical

&
&

C
®sz§2 Q‘(&
Q?}

BADGER INDUSTRIES
[MDH3812]
No-Drill™Hanger
Patent #9,850,659

Torque-Off Hex Nut
Threaded Barrel

Hole “B”
lﬁ Lock Washer—‘
\

(1/2"13)

Threaded Shaft
With Chisel Point
E End

(") Wide Body .
Chisel Point End—; 1o'® A 1
I
L

\{

T AT AT I AT AT

‘ ‘ ‘ VAV N AN AL VI VN VAW

1 For Proper Installation Flat
) Surface Shall Face Down

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel |
Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel

Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A
Minimum (6") Away From Dented Or Damaged Steel Decking Grooves, Decking |
Edges, Openings And Closures. Accurately Place One End Of The Badger ,
[MDH3812] Into One Steel Decking Groove, Aligning The Length Of The [MDH3812] *
To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding |
The [MDH3812] Firmly In Place, Tighten The Torque-Off Hex Nut Using An Open ,
End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The !
Threaded Barrel. For Reference A Minimum (15 ft.- Ibs.) Of Torque Is Required. |

INSPECTION: Check For Engagement Of Both [MDH3812] Chisel Point Ends
Into Steel Deck Grooves. Check For Perpendicular Alignment Of [MDH3812] Body
Length With The Length Of The Steel Decking Grooves. Check That Lock Washer
Is Compressed And Torque-Off Hex Nut Has Broken Away From Threaded Barrel.
Check For Proper Connection Of Attachments To The Badger [MDH3812].



Steel Decking
Min. 20 GA.

~ INSTALLATION DETAIL ~

VERCO - W2 FORMLOK™ or PLWZ2,

Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

”_T‘\ (

N
on
Deck Grooves ) Vertical Support Rod Steel Deck
To Be Exposed At Top Of
TYP ) g No-Drill™Hanger Groove
(TYP)

()

~ BaDGER INDUSTRIES ~
Detail (MDH3812-W2)

BapGeRr INDUSTRIES
No-Drill™Hanger

(TYP.) ASTM A36 Or A307
Vertical Support Rod Per (MRL).
Vertical Support Rod Shall Not
Contact Decking. Compression
Loads May Require Vertical
Support Rod To Be Stiffened

(TYP.) (MRL) Minimum Rod Length
To Be Measured From Underside Of
[MDH3812] To Top Of Pipe Hanger,
Top Of Trapeze Or Top Of Equipment
Unit That Rod Is Connected To.

p—— ' (MRL) 3/8"-16 Rod = (10")
Part # [MDH3812] MDH3512) % y (MRL) 1/2'-13 Rod = (20")
Hole “A” = (1/2"-13) Maximum (MRL) Not Required For Wire,
Hole “B” = (3/ "_q 6) Capacity ’ Cable Or Sheet Meltj;:gt;arz
Gravity (ASD) 200 Ibs.
. . NOTE:
Gravity + Seismic (ASD) 400 |bS Vertical Support Hangers Shall Be
Per Approved Project Construction
Gravity + Seismic (LRFD) | 560 Ibs. Documents, Which May Differ From
The Examples Depicted Within This
Minimum Between Spacing . Detail. I—langer C?n Be Rotated I_n
See Detail (BNDH-MBS) 21in. gf;piioRgzout It's Conn. To Vertical
Minimum Edge Distance 6 in. BApceR INDUSTRIES

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH3812] Does Not Impact The
Listed [MDH3812] Capacities.

[MDH3812]
No-Dril™Hanger
Patent #9,850,659
Torque-Off Hex Nut

Threaded Barrel
Lock Washer—‘

(1/2"-13)
Threaded Shaft
With Chisel Point
End

For Proper Installation Flat
Surface Shall Face Down

(1" Wide Body
Chisel Point End

T TN ATYEAN N A VAN Y

‘\l\HHHHHHHHIHHHI
YAV AL AN A VA VA VYA

Notice:

The Torque-Off Hex Nut Using An Open End Wrench.
Minimum (15 ft.- Ibs.) Of Torque Is Required.

INSPECTION:

L

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or Damaged Steel Decking
Grooves, Decking Edges, Openings And Closures. Accurately Place One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The
Length Of The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding The [MDH3812] Firmly In Place, Tighten

Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of
[MDH3812] Body Length With The Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex Nut Has Broken
Away From Threaded Barrel. Check For Proper Connection Of Attachments To The Badger [MDH3812].

Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For Reference A



~ INSTALLATION DETAIL ~

VERCO - W2 FORMLOK™ or PLWZ2,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

Steel Decking
Min. 20 GA.—T

N/
Deck Grooves Tap Bolt To Be Steel Deck
YR o Dril Hanger Groove
(TYP)
/N

~ BabpGER INDUSTRIES ~
Detail (MDH3812-W2CS)

BapGer INDUSTRIES

()

(3/8"-16") ASTM A36

Or A307 Tap Bolt Or Threaded Rod
With Hex Nut, And Min. (3/16"x1-5/8")
ASTM A36 Square Strut Washer.

. Maximum
Min. Cantilever (4-1/2")

(1"~

Min.
(1"

Tighten Snug Tight. Bolt / Threaded
Rod Shall Not Contact Steel Decking

(TYP.) ASTM A36 Or A307
Vertical Support Rod With Hex Nut,

Min. (3/16"x1-5/8") ASTM A36 Square
Strut Washer And B-Line BN200 Strut Nut.

For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.).
For 1/2" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
For 5/8" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
For 3/4" Rod Size Tighten Hex Nut (50 ft.- Ibs.).

No-Drill™Hanger éMlDtpﬁ3812(]]|
Part # [MDH3812] e
Hole “A” = (1/2"-13) Maximum
Hole “B” = (3/8"-16) Capacity
Gravity (ASD) 200 |bs.
Gravity + Seismic (ASD) 400 Ibs.
Gravity + Seismic (LRFD) | 560 Ibs.
Minimum Between Spacing 2in
See Detail (BNDH-MBS) n.
Minimum Edge Distance 6in.

Compression Loads May Require
Vertical Support Rod To Be Stiffened

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH3812] Does Not Impact The
Listed [MDH3812] Capacities.

Snug Tight Shall Be The Tightness Required
To Bring The Connected Plies Into Firm
Contact, And That The Nuts Could Not Be
Removed Without The Use Of A Wrench.

(1" Wide Body
Chisel Point End

Hole “A"j

Multiple Square Strut Washers Used As
Spacers To Develop An Off-Set Gap
Between Steel Deck And Strut Member

12 GA. 1-5/8"x1-5/8" Single Strut
With (9/16") Round Holes, Or With
Max. (9/16"x1-1/8" x 2" o.c.) Slotted
Back Openings. Strut Orientation
Shall Be Installed As Depicted,
Parallel To The Length Of The
[MDH3812] (+/-) (2-1/2°)

BapGER INDUSTRIES
[MDH3812]
No-Drill™Hanger
Patent #9,850,659

Torque-Off Hex Nut
Threaded Barrel
Lock Washer—‘

(1/2"-13)

‘H\Hlllll

— TYATA TV

VIV AN A VA VA VYA

Threaded Shaft
With Chisel Point
End

A

MY

U

Notice:

Minimum (15 ft.- Ibs.) Of Torque Is Required.
INSPECTION:

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking Ribs/Flutes, And At The Same Elevation As Each Other. Clean
The Steel Decking Grooves To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or Damaged Steel Decking
Grooves, Decking Edges, Openings And Closures. Accurately Place One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The
Length Of The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves. While Holding The [MDH3812] Firmly In Place, Tighten
The Torque-Off Hex Nut Using An Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For Reference A

Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel Deck Grooves. Check For Perpendicular Alignment Of
[MDH3812] Body Length With The Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex Nut Has Broken
Away From Threaded Barrel. Check For Proper Connection Of Attachments To The Badger [MDH3812].

T:or Proper Installation Flat
Surface Shall Face Down



~ INSTALLATION DETAIL ~

VERCO - W2 FORMLOK™ or PLW2,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

o N N
(1 Of 2) Badger [MDH3812]
Steel Deck No-Drill™Hangers Can Be Deck Grooves (TYP.x2) Tap Bolt To Be Steel Deck
roov Installed In The Same Or Exposeq At Top Of roov
Groove Adjacent Decking Rib/Flute TYP No-Drill™Hanger Groove
(TYP) ; ‘ll ; ; " — l (TYP)
L ; | | ‘ | A [
€ I  — —
Al @) (TYP) === == = —
_Io. (TYP.) Both [MDH3812] Hangers
S e Multiple Square Strut Washers Used As
tee by T Spacers To Develop An Off-Set Gap
i Between Steel Deck And Strut Member
Decking Mi Mi
in. < N in. . .
in. . " EQ. EQ. W 12 GA. 1-5/8"x1-5/8" Single Strut
Min. 20 GA (1) < Max.(24") 5 (1" With (9/16") Round Holes, Or With
(TYP.x2) ASTM A36- Max. (9/16"x1-1/8" x 2" o.c.) Slotted

Or A307 Tap Bolt Or Threaded Back Openings. Strut Length Can Be

Rod With Hex Nut, And Min. (TYP.) ASTM A36 Or A307 Installed Perpendicular Or Skewed To
(3/16"x1-5/8") ASTM A36 Square Vertical Support Rod With Hex Nut, Steel Deck Ribs/Flutes
Strut Washer. Tighten Snug Tight. Min. (3/16"x1-5/8") ASTM A36 Square
Bolt / Threaded Rod Shall Not Strut Washer And B-Line BN200 Strut Nut. )
Contact Steel Decking For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.). -
For 1/2" Rod Size Tighten Hex Nut (50 ft.« Ibs.). //
For 5/8" Rod Size Tighten Hex Nut (50 ft.« Ibs.). L
~ BaADGER INDUSTRIES ~ For 3/4" Rod Size Tighten Hex Nut (50 ft.- Ibs.). i
. Compression Loads May Require Vertical Support
Detail (MDH3812-W2-DAF) Rod To Be Stiffened. For Non Centered Vertical
R Icul R Maxi i
BADGER INDUSTRIES Support Rod Calculate Reduced Maximum Capacity
_Dril|™
No-Dril™Hanger Double Babaer INDUSTRIES
Part # [MDH3812] [MDH3812] [MDH3812]
Hole "A” = (1/2"-13) Maximum No-Dril™Hanger
“py” n I
Hole “B” = (3/ '16) CapaClty Patent #9,850,659
. Torque-Off Hex Nut (1/2"-13)
Gravity (ASD) 400 |bS. " Hole “B” Threaded Barrel Threaded Shaft
1") Wide Body Hole “A” ole With Chisel Point
) . . Chlsel Point End w lﬁ Lock Washer—‘ End
Gravity + Seismic (ASD) 760 Ibs. v
T ATATITM T AT
Gravity + Seismic (LRFD) | 1,064 Ibs. — AWV B R
For Proper Installation Flat
Minimum Between Spacing 2 in Surface Shall Face Down
See Detail (BNDH-MBS) : e e e
. . . : Notice
Minimum Edge Distance 6 in. INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking

- - - . Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel Decking Grooves
Listed Seismic Capacities Do Not Included | i To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented
Seismic Concrete Omega. Or Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Accurately

o 9 ) Place One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The
Seismic Concrete Omega Not Required For

1 Length Of The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves. |

Gravity Only Usage While Holding The [MDH3812] Firmly In Place, Tighten The Torque-Off Hex Nut Using An |
’ | Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded '

For Gravity + Seismic Loadings, The Gravity | Barrel. For Reference A Minimum (15 ft.- Ibs.) Of Torque Is Required. |
Demand Shall No Exceed The Gravity Only | INSPECTION: ~Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel !
Allowable Load. . Deck Grooves. Check For Perpendicular Alignment Of [MDH3812] Body Length With The i

o ) o Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And
Prox|m|ty Or Spaomg Of New Or Ex|st|ng Torque-Off Hex Nut Has Broken Away From Threaded Barrel. Check For Proper Connection
Cast-In-Place Inserts Or Drilled Hole Anchors

Of Attachments To The Badger [MDH3812].
To The [MDH3812] Does Not Impact The Listed | "— ~~— ~~— "~ ~°— "= "= "~ " " """/ —-°" -
[MDH3812] Capacities.

Snug Tight Shall Be The Tightness Required To
Bring The Connected Plies Into Firm Contact,
And That The Nuts Could Not Be Removed
Without The Use Of A Wrench.




~ INSTALLATION DETAIL ~

VERCO - W2 FORMLOK™ or PLWZ2,
Steel Decking - With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight

For Non Centered

D

Deck Grooves ) (TYPx2) Tap Bolt To Be Steel Deck

(")

. Exposed At Top Of
Vertical Support (TYP.) No-Drill™Hanger Groove
Rod Calculate * ¢ = (TYP)
Reduced Lo
Maximum T\
Capacity ‘H G >
______________ — Steel Decking
v Y/ % Min. 20 GA.
_—— - - — — —_ e — — — — ] I
| (TYP.) ASTM A36 Or A307
Mi Eg? ! <WIVerticaI Support Rod With Hex Nut,
n. < EQ EQ > Min. (3/16"x1-5/8") ASTM A36 Square
' ' RE) Strut Washer And B-Line BN200 Strut Nut.
; " Mi For 3/8" Rod Size Tighten Hex Nut (19 ft.- Ibs.).
Min. (2") < >| Min. ! i i
Max. (24") For 1/2" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
' (TYP.x2) 12 GA. 1-5/8"x1-5/8" i For 5/8" Rod Size Tighten Hex Nut (50 ft.- Ibs.).
ASTM A36 Or A307 Tap Bolt = Single Strut With (9/16") Round Holes, Or With For 3/4" Rod Size Tighten Hex Nut (50 ft.- Ibs.).

Or Threaded Rod With Hex Nut,
And Min. (3/16"x1-5/8") ASTM A36
Square Strut Washer. Tighten Snug
Tight. Bolt / Threaded Rod Shall
Not Contact Steel Decking

~ BaDGER INDUSTRIES ~
Detail (MDH3812-W2-DSF)

BabGer INDUSTRIES
No-Drill™Hanger

Part # [MDH3812) MDA 2]
Hole “A” = (1/2"-13) Maximum
Hole “B” = (3/8"-16) Capacity
Gravity (ASD) 400 |bs.
Gravity + Seismic (ASD) 760 Ibs.
Gravity + Seismic (LRFD) | 1,064 |bs.
Minimum Between Spacing 2

See Detail (BNDH-MBS) n.
Minimum Edge Distance 6in.

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.

For Gravity + Seismic Loadings, The Gravity
Demand Shall No Exceed The Gravity Only
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH3812] Does Not Impact The Listed
[MDH3812] Capacities.

Snug Tight Shall Be The Tightness Required
To Bring The Connected Plies Into Firm
Contact, And That The Nuts Could Not Be
Removed Without The Use Of A Wrench.

Max. (9/16"x1-1/8" x 2" o.c.) Slotted Back Openings.
Strut Length Can Be Installed Perpendicular Or
Skewed To Steel Deck Ribs/Flutes

Compression Loads May Require
Rod To Be Stiffened

BaADGER INDUSTRIES
[MDH3812]
No-Drill™Hanger

Patent #9,850,659

Torque-Off Hex Nut (1/2"13)

«gn Threaded Barrel Threaded Shaft
(1") Wide Body Hole “A” Hole “B With Chisel Point
Chisel Point End 1 Lock Washer—‘ End
T
| | ‘ ST ATH T AT ATY
L I P L T e
1 t:or Proper Installation Flat
) Surface Shall Face Down
Notice

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking !
Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel Decking Grooves To
Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented Or |
Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Accurately Place
One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The Length Of *
The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves. While |
Holding The [MDH3812] Firmly In Place, Tighten The Torque-Off Hex Nut Using An Open End ,
Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded Barrel. For 1
Reference A Minimum (15 ft. Ibs.) Of Torque Is Required. |

INSPECTION:  Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel Deck :
Grooves. Check For Perpendicular Alignment Of [MDH3812] Body Length With The Length Of
The Steel Decking Grooves. Check That Lock Washer Is Compressed And Torque-Off Hex
Nut Has Broken Away From Threaded Barrel. Check For Proper Connection Of Attachments
To The Badger [MDH3812]. J'



~ INSTALLATION DETAIL ~

VERCO - W2 FORMLOK™ or PLW2,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

N N
Steel Deck (1 Of 4) Deck Grooves |¢) (TYPx4) Tap Bolt To Be Steel Deck
Badger [MDH3812] Exposed At Top Of
?I_rsg\;e No-Drill™Hangers (TYP) No-Drill™Hanger G(EF’?;?
- (7" (TYP) \ 7\
< |
- >« - < \’—(TYP.XZ) Strut Spacer
(7-172") = (4-172") Min. (14" Long, 12 GA. 1-5/8"x1-5/8"
Steel— — Single Strut With (9/16") Round Holes,
. “jﬁ U Or With Max. (9/16"x1-1/8" x 2" 0.c.)
DeCklng Ea £a > Slotted Back Openings
Min. 20 GA. 1y 1, : (12') V.LF ' (1" Min. (14"x14"x3/8")
Min. Min. ASTM A36 Or Stronger
(TYPx4) (3/8"-16x2") — Steel Plate
ASTM A307 Or Stronger Tap Bolt
Installed Through (7/16") Diameter (TYP.) ASTM A36 Or A307 Vertical Support Rod Centered About All
Drilled Hole In Steel Plate. Tighten (4) Badger [MDH3812] No-Drill™Hangers. Install Vertical Support Rod Through
Snug Tight. Bolt Shall Not Contact A Drilled Hole In The Steel Plate That Is (1/16") Larger In Diameter Than The
Steel Decking Nominal Size Of The Vertical Support Rod. Secure With A Lower Hex Nut, And

An Upper Locking Hex Nut Tightened Snug Tight. For Non Centered Vertical
Support Rod, Calculate Reduced Maximum Capacity. Compression Loads May
Require Vertical Support Rod To Be Stiffened

~ BADGER INDUSTRIES ~ BabceRr INDUSTRIES

Detail (MDH381 2-W3'QAF) [MDH3812]

Bapcer INDUSTRIES No-Drill™Hanger
No-Drill™Hanger Quad Patent #9,850,659

Torque-Off Hex Nu "
Part #‘#" [l’\,/lDHSBI:I 2] [MDH381 2] ) Wide Bod Hole “B” ?hreaded Barre: Threaqgézgr\‘:fi
HOIe A = (1 /2 -1 3) Maximum CSisLI F:oﬁn gné Hole “A”w l7 Lock Washer—‘ With Chisel Pg:‘n;
Hole “B” = (3/8"-16) Capacity ] é

| = — AT T

\
Gravity (ASD) 800 Ibs. 1 1 | ] N e
. . . RE) t:or Proper Installation Flat
Gravity + Seismic (ASD) 1,600 Ibs.

Surface Shall Face Down
Gravity + Seismic (LRFD) | 2,240 Ibs. | [notice:

. . INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking
Minimum Between Spacing 2 : Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel Decking Grooves
See Detail (BNDH-MBS) n. To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented

Or Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Accurately
Place One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The
Length Of The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves.
While Holding The [MDH3812] Firmly In Place, Tighten The Torque-Off Hex Nut Using An
Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded
Barrel. For Reference A Minimum (15 ft.- Ibs.) Of Torque Is Required.

B\ISiEGCTION: C(ghe‘((:kFForPEngag(;e_m(Tnt glf Both [I;/Ig]!—l:ﬁéZH]SCa?izsengin'lt_Endtsh I\r/w\;gihS%_ehel
ismi i eck Grooves. Check For Perpendicular Alignmen 0 en i e
%?;%?;Coglirgsrgézomega Not Required For + Length Of The Steel Deckinngrooves. Cﬁeck That I[_ock Wash]er IsyComgressed And
Torque-Off Hex Nut Has Broken Away From Threaded Barrel. Check For Proper Connection
For Gravity + Seismic Loadings, The Gravity | . OfAttachments To The Badger [MDH3812]. N
Demand Shall No Exceed The Gravity Only | '~ "= """~ """~ """ttt
Allowable Load.

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH3812] Does Not Impact The Listed
[MDH3812] Capacities. Maintain A Minimum
(2") Between Spacing From Shot-Pins Installed
In The Web Or The Bottom Of The Decking
Rib/Flute.

Minimum Edge Distance 6 in.

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.




~ INSTALLATION DETAIL ~

VERCO - W2 FORMLOK™ or PLW2,
Steel Decking With (f'c Min = 3,000 psi)
Sand-Lightweight Or Normal Weight Concrete:

N N
Steel Deck (E; gf 4)[MDH3812] Deck Grooves |2 (TYP.I)E<4) Tade'oc?tltr To I?)ef Steel Deck
adger Xpose op
?I_rsg\;e No-Drill™Hangers (TYP) No-Drill™Hanger G(EF’?;?
: NI (5") T :
- (7" (TYP) \ ‘
I
- - < \’—(TYP.XZ) Strut Spacer
(4-172") (4-172") Min. (11") Long, 12 GA. 1-5/8"x1-5/8"
Steel— — Single Strut With (9/16") Round Holes,
. U U Or With Max. (9/16"x1-1/8" x 2" 0.c.)
DeCklng < £q £q > Slotted Back Openings
Min. 20 GA RE) | ' : 1 N 1y 441y /Q
: . < 9 VIF — | (1" Min. (11"x11"x3/8")
Min. @) Min. ASTM A36 Or Stronger
(TYP.x4) (3/8"-16x2")— Steel Plate
ASTM A36 Or A307 Tap Bolt (TYP.) ASTM A36 Or A307 Vertical Support Rod Centered About All
Or Threaded Rod With Hex Nut, (4) Badger [MDH3812] No-Dril™Hangers. Install Vertical Support Rod
Ingtalled Through (7/16") D|§meter Through A Drilled Hole In The Steel Plate That Is (1/16") Larger In Diameter
Drilled Hole In Steel Plate. Tighten Than The Nominal Size Of The Vertical Support Rod. Secure With A Lower
Snug Tight. Bolt/ Threaded BOd Hex Nut, And An Upper Locking Hex Nut Tightened Snug Tight. For Non
Shall Not Contact Steel Decking Centered Vertical Support Rod, Calculate Reduced Maximum Capacity.
Compression Loads May Require Vertical Support Rod To Be Stiffened. For
Bapcer INDUSTRIES Non Centered Vertical Support Rod Calculate Reduced Maximum Capacity
Detail (MDH3812-W2-QSF) Baocer INDUSTRIES
BapGER INDUSTRIES [MDH3812]
No-Drill™Hanger Quad No-Drill™Hanger
Part # [MDH381 2] [MDH3812] Patent #9,850,659
Hole uAn — 1/ ||_1 3 . Torque-Off Hex Nut (1/2"-13)
Fole 5" = (315"10 Capacty sty Treaassare | [~ Tt
= apacity Chisel Point End— 101¢ A - r Lock WaShefjl End
. ‘ [ Y
Gravity (ASD) 800 Ibs. | || = — T

=
p
z
=
<
=
=
=
=
E
P
E
p
=
=

Gravity + Seismic (ASD) | 1,600 Ibs.
Gravity + Seismic (LRFD) | 2,240 |bs.

Minimum Between Spacing 2in
See Detail (BNDH-MBS) .

tor Proper Installation Flat
Surface Shall Face Down

!_Notlce:

INSTALLATION: Grooves Shall Be Located On The Webs Of Adjacent Steel Decking
Ribs/Flutes, And At The Same Elevation As Each Other. Clean The Steel Decking Grooves
To Remove Concrete And/Or Fire Proofing Residue. Stay A Minimum (6") Away From Dented
Or Damaged Steel Decking Grooves, Decking Edges, Openings And Closures. Accurately
Place One End Of The Badger [MDH3812] Into One Steel Decking Groove, Aligning The
Length Of The [MDH3812] To Be Perpendicular To The Length Of The Steel Decking Grooves.
While Holding The [MDH3812] Firmly In Place, Tighten The Torque-Off Hex Nut Using An
Open End Wrench. Tighten Until The Torque-Off Hex Nut Breaks Away From The Threaded
Barrel. For Reference A Minimum (15 ft.- Ibs.) Of Torque Is Required.

INSPECTION: Check For Engagement Of Both [MDH3812] Chisel Point Ends Into Steel
Deck Grooves. Check For Perpendicular Alignment Of [MDH3812] Body Length With The
. N ) . + Length Of The Steel Decking Grooves. Check That Lock Washer Is Compressed And
For Gravity + Seismic Loadings, The Gravity Torque-Off Hex Nut Has Broken Away From Threaded Barrel. Check For Proper Connection
Demand Shall No Exceed The Gravity Only Of Attachments To The Badger [MDH3812].

Allowable Load. R —

Proximity Or Spacing Of New Or Existing
Cast-In-Place Inserts Or Drilled Hole Anchors
To The [MDH3812] Does Not Impact The Listed
[MDH3812] Capacities.

Snug Tight Shall Be The Tightness Required To
Bring The Connected Plies Into Firm Contact,
And That The Nuts Could Not Be Removed
Without The Use Of A Wrench.

Minimum Edge Distance 6in.

Listed Seismic Capacities Do Not Included
Seismic Concrete Omega.

Seismic Concrete Omega Not Required For
Gravity Only Usage.




City Of

Los Angeles

COLA
Approved

~ #6090
COLA REPORT

March 2019

City Of
Los Angeles
COLA
Approved

& EQUIPMENT S \ 1 Sl mm

- S e Single Hanger & Trapeze Hanger BADGER INDUSTRIES - CITY OF LOS ANGELES COLA REPORT

L A A A A A A A \_, — SteeL Beam CLamps — — LARR 26090 —

www.seismicbracing.com www.steelbeamclamps.com www.seismicbracing.com




